

LOVE'S KOHE CENTERS, LLC SOOD PRESTON CROSSING BLVD LOUISUILLE, XY 40229 (5)2) 810-0116

- SALE -SALES#: \$15180\$2 1282011 TRANSA: 71244374 (4-30-20 23834 3-IN X 10-FT PUC CELLCORE 21.10 2 0 10.30 23971 3/4-IN X 10-FT SCH40 PLN 5.18 20 2.54 6003 2-4-92-5/8 KD WU SELECT S 6.52 20 3.46 6057 2-6-92-5/8 KD WW SELECT S 7.18 2 0 3.94 318717 SELLORS RULE

TOTTE OLLEANS DEUE TUWEL ROLL	2.58
1024259 30-CT ARMOR ALL CLEONTHO	4.58
1073561 FLEX TAPE CLEAR 4INX5FT	51.52
4 (1 12 98	JIAAK
53/997 FLEX SEAL 14-02 LIFAR SDR	12 50
429754 15-02 FLR GREEN MARKING D	12.58
178831 DN HP 4-1/2-ENX 0.045-IN	5.58
12 (1 2 08	35.76
792020 FERNCO 2-IN FLEX COUPL (-	n / n
792016 FERNCO 3-IN FLEX COUPLIN	3.98
23287 3-IN PUC DWU FEMALE ADAPT	5.98
23307 3-IN PUC DWU CLEANOUT PLU	3.98
894272 1-LB 2-1/2-IH TN EXT SCR(	1.98
351697 DW 1/2IN FITANIUM DRILL B	9.48
	59.92
4 0 14.98 1072085 DH 0 TH 10705 TH 10705	
1072085 DW 9-IN 10TPI 1-IN RECP 8	18.98
1072083 DW 6-IN 18TPT 1-IN RECIP	13.98
23399 3-IN PUC DWU SANITARY TEE	4.48
23283 3-IN PUC DWU COUPLING	1.61
23850 3/4-IN SCH40 COUPLING 429	0.87
23862 3/4-IN SCH40 ADAPTER 4350	0.75
40033 3/8-INX7-IN EN HOOK BOLT	7.52
4 (1 1.138	· · · 6
7077 3/4 BARB TO HIP ADAPTER	
1907 90-CT MTODCHUTCHOPPIER	7.18
1907 90-CT MIRACLEWIPES FOR AU	11.58
B2022 SAKRETE BO-LB CONCRETE MI	51.60
12 (1 4.30	
SUBTOTAL:	359.65
TAX:	21.58
INVOICE 02396 TOTAL:	381 13



M/C: 981.23





MIDWEST WATER

AIVERSIFIED

LS

[502] 456-1777 FAX (502) 456-5502

4626 ILLINOIS AVE. . LOUISVILLE, KY 40213 4427 04-27-2020 DIVERSTETED METALS 4626 TEL DOLS AVE LOUISVILLE, KY 40213 502 456 1. 20-0560 No.: Order No.: Job No.: Sak Lays Net - No discounts allowed SU AMOUNT Entry Method: Chip Read Batchill: 000004 Apprvd: Online 10:14:02 04/29/20 Appr Code: 085446 Inv#: 00000001 Total: USD\$ 1,820.55 Mode: Issuer TVR: 0000008000 IAD: 1010607001220000958A000000 000000FF TSI: E800





## clou.com

DE

HA

ER

18

IBU

S SUPPLY CO OF LOUISVILLE XLEY AVE ILLE KY 40209 -4771

PREPAYMENT ACCOUNT ERS



## 843740187

PACKING

Customer

00002

Order

01636583-00

D CUSTOMER \* \* \*

# Order Date 04/29/2020

Page 001

OF 001

ALL NOT THE ALL OF CONTRACTORS THE THE ALL AND A DECIMAL AND A					MAN FIRST 1								
ACCOUNT	Territory	<b>y</b>   :	134	Ship Via	WAL	K IN	-NC	NE-		Initials	PW		1
	Salespe	rson [	101	Other Zone	00		Ű	PS Zone	0	Order Type		COD	1
	Branch	0	01	COL/PPD	PRE	PAID				Date/Time		R-20 11:42AM	-
	Status			Route						Username			-
AZARD CLASS		LINE NO.		ITEM NUMBER		LOC	QTY ORDERED	QTY BKORD	BIN LOC	WEIGHT	UNIT AMOUNT	EXTENDED	-
******													-
WIRE BRUSH CS		1	- Maria	S BW103		1	2	0	SHLF-G	.00	3.11	6.22 /	T
16X1/2X5 NS-16 SS ELECTRODE 1		2 3	150,82346	S FL-5 N ED033080		1	6 10		SHLF-G INT-D		0.2779		T
UR	and the second						ΤU		TWI-D	.00	14.8794	148.79	Ľ
ECTRODE 5 LB CT	'N /	4		V ED033497		1	15	0		00	2 2200		







2

THANK YOU FOR SHOPPING LOWE'S. SEE REVERSE SIDE FOR RETURN POLICY. STORE MANAGER:

LOWE'S PRICE MATCH GUARANTEE FOR MORE DETAILS, VISIT LOWES.COM/PRICEMATCH







Harnibal Farm & Home Supply 2953 Palmyra Road Hannibal, MD 63401 (573) 221-8444 VISIT OUR WEEKSITE AT WWW.FARMANDHOMESUPPLY.COM

PRICE

TOTAL

STY UN

PROD ID

UMINUM SLLFATE 51684119 8 EA 5.99 47.92 t SUBTOTAL 47.92 Tax 47.92 @ 8.350% == 4.00 ax 4.00 TOT.4L 51.92 MasterCard 51.92 Authorization 4: 02:3496 05/11/20 09:03:55 005 63410014005

D00000001 Farm & Home Suppy Valued Custo





Comfort"

ROGERS, JON UNKNOWN HANNIBAL, MO 63401 Comfort Inn Shepherdsville Louisville South (KY240) 191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com Account:706898145Date:5/15/20Room:205 LMIDWEArrival Date:5/11/20Departure Date:5/15/20Check In Time:5/11/20 11:13 PMCheck Out Time:5/11/20 11:13 PMRewards Program ID:GP-JXR736619You were checked out by:amasdeTotal Balance Due:0.00

Post DateDescription5/11/20Master Card

Comment

Amount (356.16)

XXXXXXXXXXXXX3656

5/11/20	Room Charge	#205 ROGERS, JON	80.00
5/11/20	State Tax		4.24
5/11/20	Occupancy Tax		4.00
5/11/20	Other Tax		0.80
5/12/20	Room Charge	#205 ROGERS, JON	80.00
5/12/20	State Tax		4.24
5/12/20	Occupancy Tax		4.00
5/12/20	Other Tax		0.80
5/13/20	Room Charge	#205 ROGERS, JON	80.00
5/13/20	State Tax		4.24
5/13/20	Occupancy Tax		4.00
5/13/20	Other Tax		0.80
5/14/20	Room Charge	#205 ROGERS, JON	80.00
5/14/20	State Tax		4.24
5/14/20	Occupancy Tax		
5/14/20	Other Tax		4.00
			0.80

Room Charge State Tax Occupancy Tax Other Tax Master Card Master Card

320.00
16.96
16.00
3.20
(356.16)
0.00
0.00





Comfort"

ROGERS, JON UNKNOWN HANNIBAL, MO 63401

## Comfort Inn Shepherdsville Louisville South (KY240)

191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com Account: 705928324 Date: 5/7/20 Room: 216 BAR Arrival Date: 4/27/20 Departure Date: 5/7/20 Check In Time: 4/27/20 4:34 PM Check Out Time: Rewards Program ID: GP-JXR736619 You were checked out by: You were checked in by: alanca Total Balance Due: 0.00

Post Date Description

Comment

4/27/20	Master Card		(693.42)
		XXXXXXXXXXXX3656	
4/27/20	Room Charge	#216 ROGERS, JON	89.00
4/27/20	State Tax		4.72
4/27/20	Occupancy Tax		4.45
4/27/20	Other Tax		0.89
4/28/20	Room Charge	#216 ROGERS, JON	89.00
4/28/20	State Tax		4.72
4/28/20	Occupancy Tax		4.45
4/28/20	Other Tax		0.89
4/29/20	Room Charge	#216 ROGERS, JON	89.00
4/29/20	State Tax		4.72
4/29/20	Occupancy Tax		4.45
4/29/20	Other Tax		0.89
4/30/20	Room Charge	#216 ROGERS, JON	89.00
4/30/20	State Tax		4.72
/30/20	Occupancy Tax		4.45
/30/20	Other Tax		0.89
/1/20	Room Charge	#216 ROGERS, JON	89.00

5/1/20	State Tax		4.72
5/1/20	Occupancy Tax		4.45
5/1/20	Other Tax		0.89
5/2/20	Room Charge	#216 ROGERS, JON	89.00
5/2/20	State Tax		4.72
5/2/20	Occupancy Tax		4.45
5/2/20	Other Tax		0.89
5/3/20	Room Charge	#216 ROGERS, JON	89.00
5/3/20	State Tax		4.72
5/3/20	Occupancy Tax		4.45
5/3/20	Other Tax		0.89
5/4/20	Master Card		(297.18)
		XXXXXXXXXXXXXXX3656	
5/4/20	Room Charge	#216 ROGERS, JON	89.00
5/4/20	State Tax		4.72





Comfort"

ROGERS, JON UNKNOWN HANNIBAL, MO 63401 Comfort Inn Shepherdsville Louisville South (KY240) 191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com Account:706898145Date:5/15/20Room:205 LMIDWEArrival Date:5/11/20Departure Date:5/15/20Check In Time:5/11/20 11:13 PMCheck Out Time:5/11/20 11:13 PMRewards Program ID:GP-JXR736619You were checked out by:amasdeTotal Balance Due:0.00

Post DateDescription5/11/20Master Card

Comment

Amount (356.16)

XXXXXXXXXXXXX3656

5/11/20	Room Charge	#205 ROGERS, JON	80.00
5/11/20	State Tax		4.24
5/11/20	Occupancy Tax		4.00
5/11/20	Other Tax		0.80
5/12/20	Room Charge	#205 ROGERS, JON	80.00
5/12/20	State Tax		4.24
5/12/20	Occupancy Tax		4.00
5/12/20	Other Tax		0.80
5/13/20	Room Charge	#205 ROGERS, JON	80.00
5/13/20	State Tax		4.24
5/13/20	Occupancy Tax		4.00
5/13/20	Other Tax		0.80
5/14/20	Room Charge	#205 ROGERS, JON	80.00
5/14/20	State Tax		4.24
5/14/20	Occupancy Tax		
5/14/20	Other Tax		4.00
			0.80

Room Charge State Tax Occupancy Tax Other Tax Master Card Master Card

320.00
16.96
16.00
3.20
(356.16)
0.00
0.00



		SUNE		SEND ALL PA	NTALS, INC 409211		INVOICE NO.	10089 79259 5/19	5/20
	9	NVOICE TO							1 of 1
-		10z - 3121 - 36	179			ROGERS,	JOHN		100896989
2		1351 JEF	TWATER OPERATION FERSON ST STE 301 GTON MO 63090-6449		Bi	ligners	Atronew d	Jake	Columbra
	1	արհերթրություն	երհայորիգոհանկիրը	կողինե			2 - WASTE	WATER	TREA
		182 E AIRVIE	N, KY 42701		5 S	OB SPAR	SVILLE PC24 RROW DR SVILLE, KY 2025	Same	5473
							West	4 work	Amount
4	-	EQUIPMENT # 400 AMP CC/C	V DIESEL WELDER		Min 80.00	Day 80.00	250.00	4 week	Amount 700.00
	6	721103 M HR OUT: 1418 WELDING LEAD WELDING GROU WELDING ELEO	Make: MILLER MOG 3.300 HR IN: 50' JND CLAMP	del: BIG BLUE	400PRO S AL: 1418. 5.00 5.00 5.00 5.00	er #: M 300 5.00 5.00 5.00	F140074E 15.00 15.00 15.00	45.00 45.00 45.00	270.00 45.00 45.00
3		ITEMS: Item number		Unit Pr	Renta	l Sub-t	otal:		1060.00
	1	ENVIRONMENTA ENVIRONMENTA RENTAL PROTE	AL CHARGE 2133	EA 11.	200				11.20 159.00
					\$6	52.8	)]		
REMIT	то:								1,230.20 73.82
PO BOX	4092	TALS, INC. 211 30384-9211	Invo	NET DUE UPO? ices not paid within 30 to a 1-½% per me	) days may be		IVOICE TOTAL		1,304.02
						Bluegra	Ca ass Water's Res	sponse to Ex	22-00432 PSC 1-13 hibit 1-13 'age 1134



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice
6/16/2020	1594

Invoice

DATE RCV	D <sup>06/29/20</sup>	GL CODE 107.001
		GL DATE 6/1/20

### **APPROVED** By JayFavor at 9:50 am, Jul 22, 2020

Project KY-Lake Columbia Utilities Wastewater

Serviced	Qty.	Item Code	Description	Price Each	Amount
5/31/2020			-Central Bank Credit Card Charges for May 2020-Supplies	950.26	950.26
				Total	\$950.26
				iotai	\$950.26



3896426	1 34,99	34.99
ROD 1/8 6011 25LB 3856028	1 58.99	158.99
HELMET PILLAR BLAC 1387578	K 1 45 <sup>1</sup> .99	19.99
	Tax	1'78.96 10.74 1'39.70
Terminal ID Cryptogram AID : A00000000410 APP : Mastercard CVM : NONE / 1E0	EMV Chip 049526 001790627000200 646072698C632591 10	1:39.70
Change		0.00

onse to PSC 1-13 Exhibit 1-13



18188 1-1/2-IN PVC MALE ADAPTER	1.03
49111 1-1/2-IN PVC BOX ADAPTER	1.18
72825 1-1/4-IN PVC COUPLING	1.50
20 0.75	
115973 1-1/2-INX1-1/4-IN PVC RED	2.78
75912 SIGMA 1-1/4-IN RGD STL LC	2.16
20 1.08	
216192 HM 3/16-IN X 2-IN X 3-FT	12.68
44138 WELD STL FLAT 1/8X.2X3FT 1	26.94
30 8.98	
SUBIOTAL:	48.27
TAX:	2.90
INVUICE 04363 TOTAL:	51.17
M/C:	51.17
M/C: XXXXXXXXXXX6084 AMOUNT:51.17 A	UTHCD: 042033
CHIP REFID: 151804143680 05/15/20	14:00:09
APL: Mastercard TVR: 00000	08000
AID: A0000000041010 ISI:	E800
STORE: 1518 TERMINAL: 04 05/1	5/20 14:01:30
H OF ITEMS PURCHAS	FD- 17
H OF TIERS PURCHING	ADDED TIENC





350 LEONARDWOOD RD. FRANKFORT, KY 40601 (502) 223-7500

- SALE -SALES#: S0492WM1 1779515 TRANS#: 67894669 05-19-20

 954434 5-GAL LOWES BUCKET-UNITED
 6.96

 2 0
 3.48

 147187 10-FT RATCHET 2-CT ORANGE
 21.48

 104125 PROJECT SOURCE 3-IN CHIP
 2.96

 2 0
 1.48

 1034390 VALSPAR 3 3/8-IN ROLLER/F
 5.98

Too too of the second of the D	17.98	A SHORE			
1475255 1/0 CRFT PROREACH 25 FT 2			Card a	Carling of the second	Contraction of the second seco
387417 BERNZ 14.1-0Z MAP-PRO GAS	35.94		The second	THE REAL STREET	
3 0 11.98				and the second second	
1289839 BHK 1/4IN X 100FT PP DB R	11.48				
1289839 BHK 1/41N & 10011 1 10 8 00100 G	3.97		- Ratio		The second se
423858 PJS 3 WIRE 1 TO 3 OUTDR G	2.08		The second		
373052 KOBALT 10-CT HEAVY DUTY B			the states		
350011 WARNER PAINTERS BLADE	7.28				
1521575 JASCO PREMIUM REMOVER 1-G	45.98			and the second sec	Contraction of the second second
15215/5 JHOLU PRENION NERONGE COR	9.98		they are	and the second and the for	and is the set
70370 BC 25-FT 16-GA ORANGE COR	59.96		X	K in the	the second secon
46053 1-GAL RUSTY METAL PRIMER					
20 29.90	6.66			a starter a	
502461 32-02 SPRAY BOTTLE 3 28	6.56		1.		
20 3.28					
2 9	7.98				
1034372 VALSPAR 2-IN SHORT HANDLE	4.98			and the second	the set of the
			All the ball	and the second second second	and the second s
1034300 UNITZZ 6-IN X 11-IN PLASTI	0.37		and the second		
1034388 UALSPHR 3 370 IN PLASTI 1623656 WHIZZ 6-IN X 11-IN PLASTI 3 0 2.98	Real Property in the				
839697 NTN RH 4-1/2-IN 40 GRT FL 5.0 9.98			and a faile		
22459 DW HP 4-1/2-IN X 1/8-IN 2 2.98			and the state		
22459 00 11 3 9 2.98	05 05		Contraction of the second	the second s	A CONTRACT OF A







Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com



Date	Invoice
6/16/2020	1595

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

DATE RCVE	06/29/20	GL CODE See Below
PRCD BY	Krista	GL DATE 6/1/20

### 714 - \$ 290.00 107.001 - \$750.00

**APPROVED** By JayFavor at 9:50 am, Jul 22, 2020

Project KY-LH Treatment Wastewater

Serviced Qty. Item Code Description		Price Each	Amount
5/4/2020       1.5       Non-contract (Expert Capital Project       Selector switch on #2 blower went bad. Installed new selector Planning and prep work for installation of safety rail. AG Installed relay on blower one aeration basin. Jr Vehicle Use Reimb Group         6/10/2020       4       Non-contract (Expert Vehicle Use Reimb Group       Selector switch on #2 blower went bad. Installed new selector Planning and prep work for installation of safety rail. AG Installed relay on blower one aeration basin. Jr Vehicle Use of \$35 per day         6/10/2020       4       Non-contract (Expert Vehicle Use Reimb Group       Selector switch on #2 blower went bad. Installed new selector Planning and prep work for installation of safety rail. AG Installed relay on blower one aeration basin. Jr Vehicle Use of \$35 per day         6/10/2020       4       Non-contract (Expert Vehicle Use Reimb Group       Selector switch on #2 blower went bad. Installed new selector Planning and prep work for installation of safety rail. AG Installed relay on blower one aeration basin. Jr Vehicle Use of \$35 per day         6/10/2020       5       A       Non-contract (Expert Vehicle Use Reimb Group         6/10/2020       5       A       Selector switch on #2 blower went bad. Installed new selector Planning and prep work for installation of safety rail. AG Installed new selector Total Reimbursable Expenses	or switch. JA	Price Each 714 100.00 107.00170.00 714/10735.00 714 100.00 5.00%	Amount 150.00 280.00 105.00 100.00 100.00 5.00 105.00
	Tota	.8	\$1,040.00

From Joe Arnold 4714 Ironworks Rd. Georgetown, Ky 40324 502-370-7015 joarnold1961@gmail.com

#### Bill To

Midwest Water Operations 1351 Jefferson St Suite 301 Washington MO 63090

### Invoice # 1 Invoice Date 5/31/20

5/51/2	Duic	~~

Date	Quantity	Description	Unit Price	Amount
5/30/20	1	Annual test for Backflow Preventer LH WWTP 3243 Frankfort Pk. Georgetown Ky 40324	\$100.00	\$100.00
		Due upon receipt	Total:	\$100.00





Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice
6/16/2020	1596



### 714 - \$175.00 711 - \$490.00

APPROVED
By JayFavor at 9:51 am, Jul 22, 2020

Project KY-LH Treatment Wastewater

Serviced	Qty.	Item Code	Description		Price Each	Amount
Serviced 5/8/2020 5/9/2020 5/16/2020 5/27/2020	Qty. 1 6 1	Item Code Non-contract (Operat Non-contract (Operat Non-contract (Operat	-2:07 pm Heavy rain had to turn blower off plant flooding. -1:09 pm turned blower on flow back to normal. JA -Landscaping. Mowed site trimmed weeds zw	JA	Price Each 714 70.00 714 105.00 711 70.00 711 70.00	Amount 70.00 105.00 420.00 70.00
				Tota	1	\$665.00



**Midwest Water Operations LLC** 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice
6/16/2020	1597

Invoice

DATE RCVD<sup>06/29/20</sup> GL CODE<sup>107.001</sup>

PRCD BY Krista GL DATE 6/1/20

APPROVED	
By Jake Freeman at 11:44 am, Jul 21, 2020	J

Project

VU Deminences	idge Wastewater
RY-Persimmon F	lage wastewater

Serviced	Qty.	Item Code	Description	Price Each	Amount
5/20/2020	1	Capital Project	New Sewer line inspection. AG	70.00	70.00
5/21/2020	З	Capital Project	Cleaned up a brush pile K.C.	70.00	210.00
5/27/2020	4	Non-contract (Expert	Electrical assessment for aeration upgrade, addition point samples to verify field samples for ammonia treatment.Jr	100.00	400.00
5/27/2020	4	Capital Project	Worked on lagoon pumps. Electric upgrade. Additional point samples to verify field samples for ammonia treatment. Rb	70.00	280.00
	3	Vehicle Use Reimb Group	Vehicle Use of \$35 per day	35.00	105.00
5/28/2020			Missouri Department of Revenue-Tax for Invoice MWOMO200528, 05/28/2020	671.93	671.93
5/31/2020			Central Bank Credit Card Charges for May 2020-Construction Materials/Capital	20.08	20.08
6/1/2020			Airmaster Aerator LLC-Invoice MWOMO200528, 05/28/2020 Total Reimbursable Expenses	10,794.00	10,794.00 11,486.01
			Markup Total Reimbursable Expenses	5.00%	574.30 12,060.31
					12,000101
			Tota	nl –	\$13,125.31



http://www.airmasteraerator.com P.O. Box 546 • DeRidder, LA 70634 1-888-813-3680 • Fax (337) 463-9119

May 28, 2020

Midwest Water Operations, LLC Accounts Payable 1351 Jefferson St #301 Washington, MO 63090

Reference : Persimmon Ridge Project

#### Invoice #MWOMO200528

•	Airmaster Aerator "Turbo X-Treme" Aerator 25 Hp, 230/460/3ph, 60 Hz Model #AA253SSX
	Fichlum Efficiency Motor
	Prc-Wired With Stainless Steel 12"X14"X6" NEMA 4 Electrical Enclosure
	Gates® Poly-Chain GT2 Drive System
	Poly-Round Solution® Underwater Bearing With "NCB" Sleeve
	1" High Spray Holes
	15 Degree Oxygen Generator Tube
	Stainless Steel Installation Assembly (17 Feet)
	\$ 34,000.00 Each
•	Shipping Charges from Wisner, LA to Louisville, KY\$ 1,980.00
	Total \$ 35,980.00

30% Down Payment \$ 10,794.00

#### We Do Appreciate Your Business!

Missouri Dept. of Revenue Use Tax \$671.93



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

### Invoice

Date	Invoice
6/16/2020	1598

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 DATE RCVD $\frac{06/29/20}{2}$  GL CODE $\frac{\text{See Below}}{1/20}$ PRCD BY Krista GL DATE $\frac{6/1/20}{2}$ 

### 701 - \$140.00 711 - \$2,183.37

**APPROVED** By JayFavor at 9:51 am, Jul 22, 2020

Project

KY-Persimmon Ridge Wastewater

Serviced	Qty.	Item Code	Description	Pric	e Each	Amount
5/4/2020	2	Non-contract (Operat	-Collected additional samples, for ammonia and delivered samples to the lab K.C.	701	70.00	140.00
5/7/2020	5.5	Non-contract (Operat	-Mowing/trimming/edging. Removed debris from site zw	711	70.00	385.00
5/7/2020	1	Non-contract (Operat	-Mowing/trimming/edging. Removed debris from site zw		70.00	70.00
5/8/2020	4	Non-contract (Operat	-Trimmed weeds around lift station, manholes, site building and lagoons zw		70.00	280.00
5/21/2020	3	Non-contract (Operat	-Mowing K.C.		70.00	210.00
5/23/2020	5	Non-contract (Operat	- Trimmed the lagoon banks and Entrance some mowing. K.C.		70.00	350.00
5/23/2020	9	Non-contract (Operat			70.00	630.00
		Reimb Group				
2/27/2020			-Lowe's-Materials, 02/27/2020, kc		66.67	66.67
5/31/2020			-Central Bank Credit Card Charges for May 2020-Small Tools / Equipment		191.70	191.70
			Total Reimbursable Expenses			258.37
			Tota	al		\$2,323.37



4930 NORTON HEALTHCARE BLV

- SALE -SALESA: \$2245881 1964525 TRANS#: \$836486 02-27-20

631597	TYVEK	DUP	OHT 2X.	/3X		15.98
292680	24-IN	BLK	L'ABLE	TIES	15-0	15.96
			20	7	.98	
87159	14-1N	BLK	CABLE	TIES	100-	30.96
			2 0	15	48	

51	BTOTAL:	62.90
	1AX:	3.77 /
INVOICE 09479	TOTAL :	65.67 /
	VISA:	55.57

VISA:XXXXXXXXXXXXXXX555 AHDUNT:66.67 AUTHCD:050350 CHIP REFID:224509395461 02/27/20 15:48:03 CUSTONER CODE: parnission ridge API: CHRSE UISA TUR: 000000000 AID: A00000000031010 TSI: E800 SIORE: 2245 TEMINAL: 09 02/27/20 15:40:35 # OF TTEMS PURCHASED: 55 EXCLUES FEES, SERVICE AND SPECIAL ORDER TIME EXCLUES FEES, SERVICE AND SPECIAL ORDER TIME

						11
- unana-u	 	and de la comp	(012) II	art distribut	4.44.104	-ms-m

THANK YOU FOR SHOPPING LOVE'S. See reverse side for return pulicy. Store Manager: Jim Merkle

LOWE'S PRICE HATCH GUARANTEE FOR NORE DETAILS, VISIT LOVES.COM/PRICEMATCH

***************************************	÷ •
+ SHAKE YOUR FEEDBACK!	ş
. ERTER FOR A CHANCE TO BE	
<ul> <li>DNE OF FIVE \$500 WINNERS DRAWN MONTHLY!</li> </ul>	
+ IENTRE EN EL SURTEO MENSUAL	×
* PARA SER UNU DE LOS CINCO GANADORES DE \$500	4
9	ż
* ENTER BY COMPLETING A SHORT SURVEY	*
<ul> <li>VITHIN ONE WEEK AT: www.loves.com/survey</li> </ul>	÷
* YOUR ID# 094798 224520 586640	X
	4
<ul> <li>NO PURCHASE NECESSARY TO ENTER ON WIN.</li> </ul>	4
VOID WHERE PROHIBITED. MUST BE 18 OR OLDER TO ENTER.	
* OFFICIAL RULES & UINNERS AT: www.lowes.com/survey	ł
***************************************	44
STORE: 2245 TERMINAL: 09 02/27/20 15:48:35	



Midwest Water Operations, LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com



Date	Invoice #
11/20/2020	01658

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

DATE RCVD <sup>12/08/20</sup>	<sup>)</sup> GL CODE <u>701</u>
PRCD BY Krista	GL DATE 11/20/20

**APPROVED** By JayFavor at 7:42 am, Dec 11, 2020

Project

Serviced	Qty	Item Code	Description	Price Each	Amount
	1	KY-Bluegrass 3	Contract Operational Services for November prorated	4,801.60	4,801.60
			Т	otal	\$4,801.60



Midwest Water Operations, LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/20/2020	01658

DATE RCVD <sup>12/04/20</sup> GL CODE <sup>701</sup>				
PRCD BY Krista	GL DATE 11/20/20			

Project

Serviced	Qty	Item Code	Description	Price Each	Amount
	1	KY-Bluegrass 3	Contract Operational Services for November prorated	4,801.60	4,801.60
			Arcadia Pines		
			Carriage Park		
			Marshall Ridge		
			Randview		
			To	otal	\$4,801.60



Midwest Water Operations, LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/20/2020	01659

DATE RCVD <sup>12/04/20</sup> GL CODE <sup>701</sup>				
PRCD BY Krista				

Project

Serviced	Qty	Item Code	Description	Price Each	Amount
	1	KY-Bluegrass 3	Contract Operational Services for December	12,004.00	12,004.00
					¢10 00 1 00
			To To	otal	\$12,004.00

### **Contractual Monthly Operations Expenses Midwest Water Operations**

### **APPROVED** By JayFavor at 7:00 am, Jan 12, 2021

#### Missouri Conf

<b>Kentucky</b> Bluegrass				Miss Confl
Bracgrass	Airview		\$4,133.00	conn
	Brocklyn		\$4,133.00	
	Fox Run		\$4,133.00	
	Kingswood		\$4,133.00	
	Lake Columbia		\$4,133.00	
	LH Treatment		\$4,133.00	
	Great Oaks		\$4,133.00	
	Golden Acres		\$4,133.00	
	Persimmon Ridge		\$4,133.00	
		Total	\$37,197.00	
Round 2 Closings	Joann Estates (Timber	land)	\$3,001.00	
	Riverbluffs		\$3,001.00	
	Center Ridge		\$12,004.00	
		Total	\$18,006.00	
Round 3 Closings	Arcadia Pines		\$3,001.00	
	Carriage Park		\$3,001.00	
	Marshall Ridge		\$3,001.00	
	Randview		\$3,001.00	
Arkansas		Total	\$12,004.00	Elm H
Eagle Ridge				
	Eaglebrook		\$3,300.00	
	Huntington Estates		\$1,750.00	
	Shadow Ridge		\$3,300.00	
		Total	\$8,350.00	
				India
Flushing Meadows		Total	\$5,000.00	
				Racco
Hayden's Place		Total	\$1,750.00	
Oak Hill				
	North Hills		\$1,750.00	
	Oak Tree		\$1,750.00	
		Total	\$3,500.00	Osage
				Loui
Sebastian Lake		Total	\$3,500.00	Magr
				North
St. Joseph's Glen	St. Joseph's Glen		\$3,000.00	
	Cherokee Village		\$4,838.00	
		Total	\$7,838.00	
Техаз				
CSWR-TX			¢c 750 00	
	North Victoria		\$6,750.00	
	Coleto		\$6,750.00 \$6,750.00	
	Copano Heights Council Creek		\$6,750.00	
	South Council Creek		\$6,750.00 \$6,750.00	South
	South Silver Creek		\$6,750.00	South
	South Silver Creek	Total	\$40,500.00	
		10101	γ <del>-</del> 0,500.00	

wiissouri		
Confluence Rivers		
	Auburn Lake Water	\$1,500.00
	Auburn Lake Sewer	\$1,500.00
	Calvey Brook Water	\$1,500.00
	Calvey Brook Sewer	\$1,500.00
	Eugene Water	\$1,500.00
	Evergreen Water	\$1,500.00
	Gladlo Water	\$1,500.00
	Gladlo Sewer	\$1,500.00
	Lake Virginia Sewer	\$1,500.00
	Majestic Lakes Water	\$1,500.00
	Majestic Lakes Sewer	\$1,500.00
	Mill Creek Sewer	\$1,500.00
	Ranch Roy-L Water	\$1,500.00
	Ranch Roy-L Sewer	\$1,500.00
	Smithview (Kuhle) Wate	
	Villa Ridge Sewer	\$1,500.00
	Willows Water	\$1,500.00
		. ,
	Willows Sewer	\$1,500.00
	То	tal \$27,000.00
Elm Hills		
	Missouri Utitlities Wate	r \$1,742.40
	Missouri Utilities Sewer	\$1,742.40
	Twin Oaks	\$1,725.00
	Rainbow Acres	\$1,725.00
	State Park Village	\$1,795.20
	-	
	То	tal \$8,730.00
la dia a 1111a	τ.	
Indian Hills	То	tal \$4,750.00
Raccoon Creek		
	Villages of Whiteman	\$1,698.84
	WPC	\$1,698.83
	WSS	\$1,698.83
	То	tal \$5,096.50
Osage	To	tal \$17,200.00
U U		
Louisiana		
Magnolia		40 500 00
North	Cherry Ridge	\$3,580.00
	Evangeline	\$3,580.00
	Jones Rolling Ridge Water	\$1,790.00
	Jones Rolling Ridge Sewer	\$1,790.00
	Olde Oaks	\$3,580.00
	S & S	\$3,580.00
	Suburban Water	\$1,790.00
	Suburban Sewer	\$1,790.00
	Wildwood Water	
		\$1,790.00 \$1,790.00
	Wildwood Sewer	\$1,790.00
South	Mo-Dad	\$201,400.00
Journ		<i>7201,400.00</i>
	Major	\$2,500.00
		6338.000.00

Total

North Carolina

Ocean Terrace

\$3,500.00

\$228,960.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### Invoice

Date	Invoice #
11/25/2020	01660

DATE RCVD<sup>12/03/20</sup> GL CODE 107.001 PRCD BY Krista GL DATE 11/1/20

### **APPROVED** By Jake Freeman at 7:50 am, Dec 18, 2020

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/2/2020	Capital Project	General Plant WW	WO 270936384 Leveled out gravel pile in driveway, moved construction material	2	75.00	150.00
10/2/2020	Capital Project	General Plant WW	WO 270936384 Shoveled gravel and moved rocks from pile. Finished painting clarifier. ZW	4	75.00	300.00
10/6/2020	Capital Project *Reimb Group	General Plant WW	Oversight and planning of capital projects CC	3	75.00	225.00
10/31/2020		General Plant WW	Central Bank Credit Card Charges-Capital Improvements, Construction Materials		19.68	19.68
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charges-Capital Improvements, Construction Materials		384.85	384.85
			Total Reimbursable Expenses Markup		5.00%	404.53 20.23
			Total Reimbursable Expenses			424.76
	Vehicle Use	General Plant WW	Vehicle Use of \$35 per day	2	35.00	70.00
	<u> </u>	1	Total	1		\$1,169.76

### Split - \$19.68 - Fox Run, LH Treatment, Brocklyn, River Bluff, Lake Columbia, Kingswood, Persimmon Ridge. \$19.65 - Airview Wastewater

### Order Number: 77787848 Placed: 10/26/2020 Payment: Complete Status: On Hold Estimated Delivery: 10/30/2020 (view shipping details below)

Billing Information Name: CHRIS CARROLL Address Line 1: 1351 JEFFERSON STREET Address Line 2: SUITE 301 City: WASHINGTON State/Prov/Reg: MO Zip: 63090 Country: United States		Shipping Information	Other Information		
		Name: CHRIS CARROLL Address Line 1: 398 E GAP HILL RE Address Line 2: City: CUB RUN State/Prov/Reg: KY Zip: 42729-8623 Country: United States	Email: ccarroll@midwestwaterop.com Telephone: 502-509-8583 Shipping Method: Ground		
Ordered	Items:	Qty.	Price	Item Tota	
Hard the second	Customized Sign Custom Sign ID: 876800088 12" x 9"; Aluminum (.040) Single-Sided Full Color View Proof	24	\$8.25	\$198.00	
			Subtatal	\$198.00	

Payment Information		Subtotal: Promo:	\$198.00 (\$49.50)
Card Type: MasterCard Card Number: XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		Shipping: Tax:	\$0.00 \$8.91
Expiration: 8/2023		Total:	\$157.41

	CUSTOMER	s ORDER NO. Midwest CASH COD DI Marathu 5HP	КАТНУ 1-502 КАТНУ 1-502 СНАЯЗСЕ ОН АОСТ ИТ СНАЯЗСЕ ОН АОСТ ИТ	LOUI: 10/28/2020 Card # Chip Card: AID: SEQ #: Batch #: INVOICE Approval Code: Entry Method: Mode: Tax Amount: Cust Code:	IQA	14:54:37 Mastercan 00000004101 20 0956 Chip Re 1ss \$21 \$384	d 0 4 56 6 22 ead uer 78
Parts and Materials			)				
Labor     TAX     21     78       RECEIVED BY     TOTAL     384     65       All claims and returned goods MUST be accompanied by this bill.	RECEIVED BY			TOTAL	204	1	



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### 107.001=\$2170 711=\$490

714= \$66.12

	I	nvoice
Date		Invoice #

11/25/2020 01661

### DATE RCVD<sup>12/03/20</sup> GL CODE See Below PRCD BY Krista GL DATE 11/1/20

Project

KY-Airview Utilities Wastewater

10/1/2020       Non-contract (Operat       General Plant WW       -WO 270936497 Pulled weeds from fence and cleaned fixed barbed wire       3       107.00170.00         10/1/2020       Non-contract (Operat       General Plant WW       -Mowed and trimmed entire site. ZW       4       711       70.00         10/1/2020       Non-contract (Operat       General Plant WW       -WO 270971815 Answered mission call out.       3       107.00170.00         10/12/2020       Non-contract (Operat       Treatment & Disposal       -WO 270971815 Answered mission alarm.       3       107.00170.00         10/13/2020       Non-contract (Operat       Treatment & Disposal       -WO 270971824 Met with TNT about blower.       3       107.00170.00         10/26/2020       Non-contract (Operat       General Plant WW       -WO 271014975 Cleaned up plant area K.C.       1       107.00170.00         10/26/2020       Non-contract (Operat       General Plant WW       -WO 271018966 Breaker was tripped, blower number I. C.       1       107.00170.00         10/26/2020       Non-contract (Operat       General Plant WW       -WO 271018966 Breaker was tripped, blower number I. C.       1       107.00170.00         10/26/2020       Non-contract (Operat       General Plant WW       -WO 271018966 Breaker was tripped, blower number K.C.       1       107.00170.00 <th>Amount</th> <th>Price Each</th> <th>Qty</th> <th>Description</th> <th>Class</th> <th>Item Code</th> <th>Serviced</th>	Amount	Price Each	Qty	Description	Class	Item Code	Serviced
10/1/2020 10/1/2020 10/12/2020Non-contract (Operat Treatment & DisposalWO 271014980 Lawn maintenance371170.0010/12/2020 10/13/2020Non-contract (Operat Treatment & DisposalTreatment & Disposal Blower tripped out. Reset blowers. ZW3107.00170.0010/13/2020Non-contract (Operat Treatment & DisposalTreatment & Disposal Blower again overloaded. Reset trip button. Called TNT to set up service call for Thursday. ZW3107.00170.0010/15/2020Non-contract (Operat General Plant WWTreatment & Disposal WO 270971824 Met with TNT about blower. Replaced wires in blower motor. ZW4107.00170.0010/26/2020Non-contract (Operat General Plant WW-WO 271014975 Cleaned up plant area K.C.1107.00170.0010/27/2020Non-contract (Operat Treatment & DisposalWO 271018966 Breaker was tripped, blower number 1. Checked and measured for a replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K	) 210.00	107.00170.00	3		General Plant WW	Non-contract (Operat	10/1/2020
10/12/2020Non-contract (OperatTreatment & DisposalWO 27097818 Answered mission call out. Blower tripped out. Reset blowers. ZW3107.00170.0010/13/2020Non-contract (OperatTreatment & DisposalWO 270971815 Answered mission call out. Blower tripped out. Reset blowers. ZW3107.00170.0010/13/2020Non-contract (OperatTreatment & DisposalWO 270971815 Answered mission alarm. Blower again overloaded. Reset trip button. Called TNT to set up service call for Thursday. ZW3107.00170.0010/26/2020Non-contract (OperatGeneral Plant WW-WO 271014975 Cleaned up plant area K.C.1107.00170.0010/26/2020Non-contract (OperatGeneral Plant WW-WO 271014976 Fence repair K.C.1107.00170.0010/27/2020Non-contract (OperatTreatment & DisposalWO 271018966 Breaker was tripped, blower motor. K.C.1107.00170.0010/28/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW7107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW7107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (OperatTreatment & Disposal<	280.00		4	-Mowed and trimmed entire site. ZW	General Plant WW	Non-contract (Operat	10/1/2020
10/12/2020Non-contract (Operat Treatment & DisposalWO 27097818 Answered mission call out. Blower tripped out. Reset blowers. ZW3107.00170.0010/13/2020Non-contract (Operat Treatment & DisposalTreatment & DisposalWO 270971815 Answered mission alarm. Blower again overloaded. Reset trip button. Called TNT to set up service call for Thursday. ZW3107.00170.0010/15/2020Non-contract (Operat OperatTreatment & DisposalWO 270971824 Met with TNT about blower. Replaced wires in blower motor. ZW4107.00170.0010/26/2020Non-contract (Operat OperatGeneral Plant WW-WO 271014975 Cleaned up plant area K.C. -WO 271014976 Fence repair K.C.1107.00170.0010/27/2020Non-contract (Operat On-contract (OperatTreatment & DisposalWO 271018966 Breaker was tripped, blower motor. K.C.1107.00170.0010/28/2020Non-contract (Operat Treatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.1107.00170.0010/29/2020Non-contract (Operat Treatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.3107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.3107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018	210.00	711 70.00	3	-WO 271014980 Lawn maintenance	General Plant WW		
10/13/2020Non-contract (OperatTreatment & DisposalWO 270971815 Answered mission alarm. Blower again overloaded. Reset trip button. Called TNT to set up service call for Thursday. ZW3107.00170.0010/15/2020Non-contract (OperatTreatment & DisposalWO 270971824 Met with TNT about blower. Replaced wires in blower motor. ZW4107.00170.0010/26/2020Non-contract (OperatGeneral Plant WW-WO 271014975 Cleaned up plant area K.C.1107.00170.0010/26/2020Non-contract (OperatGeneral Plant WW-WO 271014976 Fence repair K.C.1107.00170.0010/27/2020Non-contract (OperatTreatment & DisposalWO 271018966 Breaker was tripped, blower number 1. Checked and measured for a replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Worked on replacing electric motor. K.C.7107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/31/2020Non-contract (OperatTreatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/31/2020Non-contract (OperatTreatment & DisposalW	210.00	107.00170.00	3		Treatment & Disposal		10/12/2020
10/15/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal General Plant WW-WO 270971824 Met with TNT about blower. Replaced wires in blower motor. ZW107.00170.0010/26/2020Non-contract (Operat OperatGeneral Plant WW-WO 271014975 Cleaned up plant area K.C.1107.00170.0010/27/2020Non-contract (Operat OperatGeneral Plant WW-WO 271014976 Fence repair K.C.1107.00170.0010/27/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Breaker was tripped, blower number 1. Checked and measured for a replacement motor. K.C.107.00170.0010/29/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Worked on replacing electric motor. K.C.107.00170.0010/29/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/29/2020Non-contract (Operat Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/31/2020Non-contract (OperatTreatment & Disposal Treatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010	) 210.00	107.00170.00	3	-WO 270971815 Answered mission alarm. Blower again overloaded. Reset trip button. Called TNT to set up service call for Thursday.	Treatment & Disposal	Non-contract (Operat	10/13/2020
10/26/2020Non-contract (Operat Non-contract (OperatGeneral Plant WW Treatment & DisposalWO 271014976 Fence repair K.C.1107.00170.0010/27/2020Non-contract (Operat Non-contract (OperatTreatment & DisposalWO 271018966 Breaker was tripped, blower number 1. Checked and measured for a replacement motor. K.C.1107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Worked on replacing electric motor. K.C.7107.00170.0010/29/2020Non-contract (OperatTreatment & DisposalWO 271018966 Finished installing the 	280.00	107.00170.00	4	-WO 270971824 Met with TNT about blower.	Treatment & Disposal	Non-contract (Operat	10/15/2020
10/27/2020Non-contract (Operat reatment & DisposalWO 271018966 Breaker was tripped, blower number 1. Checked and measured for a replacement motor. K.C.2107.00170.0010/28/2020Non-contract (Operat reatment & DisposalWO 271018966 Worked on replacing electric motor. K.C.7107.00170.0010/29/2020Non-contract (Operat reatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.3107.00170.0010/29/2020Non-contract (Operat reatment & DisposalWO 271018966 Assisted with motor install. ZW470.0010/31/2020Non-contract (Operat reatment & DisposalCentral Bank Credit Card Charges-Repairs/Maintenance1466.1210/31/2020APPRROVEED-Central Bank Credit Card Charges-Repairs/Maintenance-1466.12			1	-WO 271014975 Cleaned up plant area K.C.	General Plant WW	Non-contract (Operat	0/26/2020
InvestigationInvestigationInvestigationInvestigationInvestigationInvestigation10/28/2020Non-contract (Operat)Treatment & DisposalWO 271018966 Worked on replacing electric motor. K.C.7107.00170.0010/29/2020Non-contract (Operat)Treatment & DisposalWO 271018966 Finished installing the replacement motor. K.C.3107.00170.0010/29/2020Non-contract (Operat)Treatment & DisposalWO 271018966 Assisted with motor install.470.0010/29/2020Non-contract (Operat)Treatment & DisposalWO 271018966 Assisted with motor install.470.0010/31/2020Non-contract (Operat)Treatment & DisposalWO 271018966 Assisted with motor install.470.0010/31/2020Treatment & DisposalCentral Bank Credit Card Charges-Repairs/Maintenance71466.12APPROVEEDAPPROVEED			1	-WO 271014976 Fence repair K.C.	General Plant WW	Non-contract (Operat	0/26/2020
Indext (A)Indext (A)<	) 140.00	107.00170.00	2	number 1. Checked and measured for a	Treatment & Disposal	Non-contract (Operat	10/27/2020
10/29/2020       Non-contract (Operat)       Treatment & Disposal       replacement motor. K.C.       -WO 271018966 Assisted with motor install.       4       70.00       107.001         10/31/2020       Treatment & Disposal       Treatment & Disposal       -Central Bank Credit Card       714       66.12       66.12         APPROVEED       APPROVEED       -WO 271018966 Assisted with motor install.       4       70.00       107.001	490.00	107.00170.00	7		Treatment & Disposal	Non-contract (Operat	10/28/2020
10/31/2020     Treatment & Disposal     ZW     107.001       APPROVED     -Central Bank Credit Card Charges-Repairs/Maintenance     714     66.12	210.00	107.00170.00	3		Treatment & Disposal	Non-contract (Operat	0/29/2020
APPROVED	280.00		4	-WO 271018966 Assisted with motor install.	Treatment & Disposal	Non-contract (Operat	0/29/2020
	2 66.12	714 66.12		-Central Bank Credit Card	Treatment & Disposal		10/31/2020
By JayFavor at 9:22 am, Dec 17, 2020					APPROVED		
				t 9:22 am, Dec 17, 2020	By JayFavor a		
Total	\$2,726.12			<b></b>			

Split - \$66.12 - Airview WW \$66.12 - Kingswood WW





1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### 705= \$19.68 713.001= \$140 714= \$105

Date	Invoice #
11/25/2020	01662

DATE RCVD<sup>12/03/20</sup> GL CODE See Below PRCD BY Krista GL DATE 11/1/20

Project

KY-Brocklyn Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
10/26/2020	Non-contract (Operat	Treatment & Disposal	-WO 271014721 Pumped out storm v had collected in lagoon JA	water that		714 70.00	105.00
10/27/2020	Non-contract (Operat	Treatment & Disposal	-WO 270920223 Assisted Martin's Sa pumping 4,000 gallons of sludge out clarifier and pump chamber. JA		2	713.001 <sup>70.00</sup>	140.00
10/31/2020		General Plant WW	-Central Bank Credit Card Charges-Repairs/Maintenance			705 19.68	19.68
		<b>PPROVED</b>					
	B	y JayFavor at 9	:22 am, Dec 17, 2020				
			· · ·	Total			\$264.68

Split - \$19.68 - Fox Run, LH Treatment, Brocklyn, River Bluff, Lake Columbia, Kingswood, Persimmon Ridge. \$19.65 -Airview Wastewater

Order Number: 77787848 Placed: 10/26/2020 Payment: Complete Status: On Hold Estimated Delivery: 10/30/2020 (view shipping details below)

Billing Information		Information Shipping Information		Other Information	
Name: CHRIS CARROLL Address Line 1: 1351 JEFFERSON STREET Address Line 2: SUITE 301 City: WASHINGTON State/Prov/Reg: MO Zip: 63090 Country: United States		Name: CHRIS CARROLL         Address Line 1: 398 E GAP HILL RD         Address Line 2:       Email: ccarroll@m         City: CUB RUN       Telephone: 502-50         State/Prov/Reg: KY       Shipping Method:         Zip: 42729-8623       Country: United States			
Ordered I	Items:	Qty.	Price	Item Total	
Warning ware frames Do Not Entre b. Caro frames 1 dia 23 and	Customized Sign Custom Sign ID: 876800088 12" x 9"; Aluminum (.040) Single-Sided Full Color View Proof	24	\$8.25	\$198.00	

Payment Inf	ormation	Subtotal: Promo:	\$198.00 (\$49.50)
Card Type: MasterCard Card Number: XXXXXXXXXXX1804	Payment Status: Complete	Shipping: Tax:	\$0.00 \$8.91
Expiration: 8 / 2023	,	Total:	\$157.41





Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice
7/1/2020	1662



701 - \$43,199.00 636.3 - \$12,004.00

Project

Serviced	Qty.	Item Code	Description		Price Each	Amount
Serviced	Qty. 9 1	Item Code KY-Bluegrass 1 KY-Bluegrass 2	Contract Operational Services for August Contract Operational Services for August		Price Each 4,133.00 18,006.00	Amount 37,197.00 18,006.00
				Tota		\$55,203.00

#### **Contractual Monthly Operations Expenses**

#### **Midwest Water Operations**

Kentucky

Kentucky			
Bluegrass			
	Airview		\$4,133.00
	Brocklyn		\$4,133.00
	Fox Run		\$4,133.00
	Kingswood		\$4,133.00
	Lake Columbia		\$4,133.00
	LH Treatment		\$4,133.00
	Great Oaks		\$4,133.00
	Golden Acres		\$4,133.00
	Persimmon Ridge	<b>T</b> I	\$4,133.00
		Total	\$37,197.00
Bluegrass			
Round 2 Closings	Joann Estates (Timber	land)	\$3,001.00
	Riverbluffs		\$3,001.00
	Center Ridge		\$12,004.00
		Total	\$18,006.00
Arkansas			
Eagle Ridge			
	Eaglebrook		\$3,300.00
	Huntington Estates		\$1,750.00
	Shadow Ridge		\$3,300.00
	Shauow Riuge	Total	
		Total	\$8,350.00
			AT 000 00
Flushing Meadows		Total	\$5,000.00
Hayden's Place		Total	\$1,750.00
,			. ,
Oak Hill			
	North Hills		\$1,750.00
	Oak Tree		\$1,750.00
	Oukfree	Total	\$3,500.00
		TULAI	<b>\$3,500.00</b>
Sebastian Lake		Total	\$3,500.00
Sebastian Lake		TOtal	<i>\$3,300.00</i>
St. Jacoph's Clan	St. Jacoph's Clop		¢2,000,00
St. Joseph's Glen	St. Joseph's Glen		\$3,000.00
	Cherokee Village		\$4,838.00
		Total	\$7,838.00
Louisiana			
Magnolia			<b>4 - .</b>
North	Cherry Ridge		\$3,580.00
	Evangeline		\$3,580.00
	Jones Rolling Ridge W		\$1,790.00
	Jones Rolling Ridge Se	wer	\$1,790.00
	Olde Oaks		\$3,580.00
	S & S		\$3,580.00
	Suburban Water		\$1,790.00
	Suburban Sewer		\$1,790.00
	Wildwood Water		\$1,790.00
	Wildwood Sewer		\$1,790.00
South	Mo-Dad		\$199,500.00
	<b>T</b> I		6224 200 00
	Total		\$224,560.00

#### Missouri

**Confluence Rivers** 

	Auburn Lake Water		\$1,250.00
	Auburn Lake Sewer		\$1,250.00
	Calvey Brook Water		\$1,625.00
	Calvey Brook Sewer		\$1,625.00
	Eugene Water		\$3,500.00
	Evergreen Water		\$3,000.00
	Gladlo Water		\$1,725.00
	Gladlo Sewer		\$1,725.00
	Lake Virginia Sewer		\$2,000.00
	Majestic Lakes Wate	er	\$3,000.00
	Majestic Lakes Sewe	er	\$3,000.00
	Mill Creek Sewer		\$3 <i>,</i> 500.00
	Ranch Roy-L Water		\$1,900.00
	Ranch Roy-L Sewer		\$1,900.00
	Smithview (Kuhle) V	Vater	\$2,160.00
	Villa Ridge Sewer		\$5,000.00
	Willows Water		\$2,250.00
	Willows Sewer		\$2,250.00
		Total	\$42,660.00
Elm Hills			
	Missouri Utitlities W		\$1,742.40
	Missouri Utilities Sev	wer	\$1,742.40
	Twin Oaks		\$1,725.00
	Rainbow Acres		\$1,725.00
	State Park Village		\$1,795.20
		Total	\$8,730.00
la d'a a 1111a		<b>T</b> I	64 750 00
Indian Hills		Total	\$4,750.00
Raccoon Creek			
	Villages of Whitema	n	\$1,698.84
	WPC		\$1,698.83
	WSS		\$1,698.83
		Total	\$5,096.50
Osage		Total	\$17,200.00

**APPROVED** By JayFavor at 7:43 am, Jul 16, 2020



### 1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### **APPROVED**

By Jake Freeman at 7:51 am, Dec 18, 2020

Date	Invoice #
11/25/2020	01663

Invoice

## DATE RCVD<sup>12/03/20</sup> GL CODE<sup>107.001</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

#### Project

KY-Center Ridge-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/2/2020	Capital Project	General Plant WW	WO 270933594 Installed signage K.C.	2	75.00	150.00
10/2/2020	Capital Project	General Plant WW	WO 270961114 Planning upgrades and capital projects CC	6	75.00	450.00
10/11/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Handrail removal, metal preparation for cross member installation, materials acquisition. JR	9	100.00	900.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing old pipes and walkways.AG	12	75.00	900.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Remove old supports from aeration tank 2, weld in new ones. Began putting in walk way and hand rails	10	75.00	750.00
10/12/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of rusted handrail and cross supports, metal preparation for new. JR	11	100.00	1,100.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing rusted support beams and replacing them with new. CC	11	75.00	825.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams. JM	11	75.00	825.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Remove old pipes and walkways .AG	12	75.00	900.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed rusted supports from aeration tank 2 and weld in new ones	9	75.00	675.00
10/13/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of rusted supports and handrail, metal preparation for installation of new. JR	12	100.00	1,200.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing old support beams and railing, adding new support beams and railing. CC	4	75.00	300.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Materials acquisition for new drainage system CC	4.5	75.00	337.50
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams.JM	11	75.00	825.00
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed and replaced old pipes and walkways AG	12	75.00	900.00
	L	L	Total		II	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### Invoice

Date	Invoice #	
11/25/2020	01663	

Project

KY-Center Ridge-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Install hand rail and walk way	10	75.00	750.00
10/14/2020	New contract (Errorent	Treaturent & Discussel	on aeration tank 2. Thread air header pipe	11	100.00	1 100 00
10/14/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of cross supports, installation of bar grating, solids removal from	11	100.00	1,100.00
			aeration 2 for construction JR			
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old	9.25	75.00	693.75
10/14/2020	Capital I Toject	fileatilient & Disposal	rails, piping, and beams CC	9.23	75.00	093.75
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	11	75.00	825.00
10/14/2020	Capital Hojeet	freatment & Disposal	rusted pipes and beams. JM	11	75.00	025.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Replaced pipes and walkways	11	75.00	825.00
10/ 10/ 2020	Cupital Project	in the second se	AG		70.00	020100
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Installed air header. Install	9	75.00	675.00
	1 5	1	handrail and supports above clarifier			
10/15/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Threading, fabrication,	12	100.00	1,200.00
		-	installation of air header in aeration 2 tank. JR			
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old	5	75.00	375.00
		-	rails, piping, and beams CC			
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Preparing for new rails and a	2	75.00	150.00
			new building.			
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	7	75.00	525.00
			rusted pipes and beam JM			
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	4	75.00	300.00
			rusted pipes and beams JM			
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Installed new piping and	12	75.00	900.00
	~		walkways AG			
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Thread pipe for aeration tank	9	75.00	675.00
			1 air header. Sludge and debris removal from			
			the clarifier on aeration tank 2. Install			
10/16/2020	Non-contract (Expert	Treatment & Disposal	handrails.	12	100.00	1,200.00
10/10/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication, threading and pre assembly of aeration 1 air headers. JR	12	100.00	1,200.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old	3	75.00	225.00
10/10/2020	Capital 1 Toject	freatment & Disposal	rails, piping, and beams CC	5	75.00	225.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	11	75.00	825.00
10, 10, 2020	Cupitur i roject	freatment & Disposal	rusted pipes and beams JM	11	,5.00	025.00
			rasted pipes and obtains sin			
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/25/2020	01663

Project

KY-Center Ridge-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/17/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication and welding of	11	100.00	1,100.00
			walk grate supports, threading of clarifier air manifold 2. JR			
10/18/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Preparation for aeration 2 tank clean out, pressure test new air manifold, welding of supports. JR	11	100.00	1,100.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Install handrails, straighten up air header fittings, return lines for clarifier	9	75.00	675.00
10/19/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of old handrail and antiquated components on aeration 1 and 2, prefabricate supports, acquire materials for upgrades. JR	11	100.00	1,100.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rusted beams, rails, and pipes. Creating drain system to stop erosion problem. Lighting added to facility.	7.5	75.00	562.50
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Replacing old rails with new. JRD	11.5	75.00	862.50
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Thread pipe for aeration tank 1. Work on clarifier for aeration tank 2	9	75.00	675.00
10/20/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of supports, installation of aeration headers on aeration 2. JR	12	100.00	1,200.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed debris ZW	5	75.00	375.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams	11	75.00	825.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Replacing old rails with new JD	11	75.00	825.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Sludge and debris removal from aeration tank 2.	9	75.00	675.00
10/21/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding, metal preparation on aeration 2. JR	12	100.00	1,200.00
	1		Total		I	


1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### Invoice

Date	Invoice #
11/25/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams. Also draining and cleaning debris out of tank WO#70961114. CC	5	75.00	375.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams. Cleaning solids and debris from inside the tank WO#270961114 JM	11	75.00	825.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Continued replacing rail, cleaned solids and debris out of tank JD	11	75.00	825.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Welding in supports for aeration tank 1	9	75.00	675.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams. Also draining and cleaning debris out of tank CC	5	75.00	375.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Continued cutting old braces for walk ways out and replaced with new for new walk way and rails JD	11	75.00	825.00
10/23/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/23/2020	Capital Project	Treatment & Disposal	WO 270961114 Welded the rest of the braces for walk ways in so walk way can be installed JD	11.5	75.00	862.50
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Aeration tank 1 supports and handrail	9	75.00	675.00
10/26/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of safety rail, grating supports aeration 2. JR	11	100.00	1,100.00
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Got grate for walkway out in place, pulled wire for lights under shed roof-JD	10	75.00	750.00
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Aeration tank 1supports and handrail, aeration tank 2 build wall in clarifier tank	9	75.00	675.00
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### Invoice

Date	Invoice #
11/25/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/27/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Cut, thread, partially	11	100.00	1,100.00
		-	assemble aeration header for aeration 1. JR			
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	11	75.00	825.00
			rusted pipes and beams JM			
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Cut and installed handrails,	11.5	75.00	862.50
		-	started running conduit for lights under shed			
			roof- JD			
10/27/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Skimmer and return lines on	10	75.00	750.00
	1 3	1	aeration tank 2, lights above aeration tank 1			
10/28/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Install, fabrication of handrail,	12	100.00	1,200.00
	、 <b>1</b>		cross supports on aeration 1. JR			,
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Oversight of capital project	4.5	75.00	337.50
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	11.5	75.00	862.50
	1 5	1	rusted pipes and beams JM			
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed debris from tank,	11	75.00	825.00
	- · · · · · · · · · · · · · · · · · · ·	T T	ran conduit for lights over first tank and put			
			fittings for aeration system- JD			
10/28/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/29/2020		Treatment & Disposal	WO 270961114 Install support hangers from	11	75.00	825.00
	- · · · · · · · · · · · · · · · · · · ·	T T	return lines and skimmers on aeration tank 2			
			Weld supports and hand rail on third tank			
10/29/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Installed sludge return lines,	12	100.00	1,200.00
	· · · · · · · · · · · · · · · · · · ·	F	air lift components, air supply lines in aeration			-,
			two. JR			
10/29/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of	13	75.00	975.00
10/20/2020	Cupital Project	in the second se	rusted pipes and beams JM	10	70.00	270100
10/29/2020	Capital Project	Treatment & Disposal	WO 270961114 Cut old walk way out on 3rd	13	75.00	975.00
10/2//2020	Cupital Project	freatment & Disposal	tank and put half of new walkway in, cleaned	15	,5.00	272.00
			up metal from old walk way and rails- JD			
10/29/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/30/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication of cross member	11	100.00	1,100.00
20,20,2020	Lion contract (Expertin	in the proposal	supports, handrail on chlorine contact tank. JR		100.00	1,100.00
			supports, fundruit on emornie contact tunk. Sit			
			<b>– – – – – – – – – –</b>			
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/25/2020	01663

Project

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
10/30/2020	Capital Project	Treatment & Disposal	WO 270961114 Braced bridge be	tween the	11.5	75.00	862.50
			two tanks cut rest of walkway out				
			handrails in place and put new gra	ate down for			
			walkway- JD				
	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal 7		15	100.00	1,500.00
10/31/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Thread, assemble		11	100.00	1,100.00
			manifold and drop down piping. J	R			
	*Reimb Group						
10/2/2020		Treatment & Disposal	Sunbelt Rentals Invoice 10089698			1,304.02	1,304.02
10/31/2020		General Plant WW	Central Bank Credit Card Charge			2,673.18	2,673.18
			Improvements, Construction Mate				
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charge			10,298.99	10,298.99
			Improvements, Construction Mate				
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charge	s-Capital		1,780.80	1,780.80
			Improvements, Travel Expenses				
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charge			4,008.92	4,008.92
10/01/0000		a 151	Improvements, Equipment Rental				
10/31/2020		General Plant WW	Central Bank Credit Card Charge			52.98	52.98
11/0/2020			Improvements, Equipment Rental			22.15	22.15
11/9/2020		Treatment & Disposal	Welders Supply Invoice 08271240	5		23.15	23.15
			Total Reimbursable Expenses			5.000/	20,142.04
			Markup			5.00%	1,007.10
	X7 1 1 1 XX		Total Reimbursable Expenses		10	25.00	21,149.14
	Vehicle Use	General Plant WW	Vehicle Use of \$35 per day		19	35.00	665.00
				Total			\$85,507.89
							<i>403,301.07</i>

### CYLINDER RENTAL INVOICE

S

CUSTOMER	R: A4561	PAGE: 1
INVOICE:	08271246	
INV DATE:	09/30/2020	
SALESPERSO	N:101	TERR: 134
BRANCH:	001	
P/O:		
TERMS:	UPON RECEIF	T

B MIDWEST WATER OPERATION

ELDERS

HELIUM EXPRESS KY COMMERCIAL GASES

PO BOX 21007

WELDERS SUPPLY COMPANY

LOUISVILLE KY 40221-0007

502-637-4771 FAX:502-637-1033

SUPPLY

- L \*\*\* COD CUSTOMER \*\*\*
- L 1351 JEFFERSON
- т WASHINGTON MO 63090 0

H MIDWEST WATER OPERATION

I P \*\*\* COD CUSTOMER \*\*\*

1351 JEFFERSON

т WASHINGTON MO 63090 0

INVOICE AMOUNT:

23.15

V	ITEM	INVOICE DATE	INVOICE	BEGINNING BALANCE	SHIPPED	RETURNED	ENDING BALANCE	LEASED CYLINDERS	BAL/DAYS	CYLINDER RATE	EXTENDED AMOUNT
R	STH STD H	IGH PRESSU	RE	1	1	1	1	0	30	.320	9.60
R	STL STD LO	DW PRESSUR	E	1	1	1	1	0	30	.320	9.60
R	HAZ REGULA	ATORY COMP	LIANC							3.95	3.95
1	MIDWEST WATER	OPERATION			USTOMER	A4561			TOTA	TAX:	.00
	*** COD CUS					: 082712	246		TOTA		20.15

	SUNBELT RENTALS	11	INVOICE N	o. 100896	5989-0008
<b>SUNBELT</b>	ATLANTA, GA 30			10. 792594	
RENTALS			INVOICE DA	TE 10/02/	20
				PAGE	1 of 1
INVOICE TO		RECEIVED BY		CONTRACT	NO. 00896989
10z - 3407 - 4024 MIDWEST WATER OPERATIONS 1351 JEFFERSON ST STE 301 WASHINGTON MO 63090-6449		ROGERS, PURCHASE ORE	ER NO.		00890989
իլլիուլիլիսինինինինինին	aund	JOB NO.	2 - WASTE	WATED T	
JOB ADDRESS WASTE WATER TREATMENT PLANT 182 E AIRVIEW DR ELIZABETHTOWN, KY 42701 636-432-6154		550B SPAR	VILLE PC2 ROW DR WILLE, KY	40	
QTY EQUIPMENT #	M	n Day	Week	4 Week	Amount
721103 Make: MILLER Mode HR OUT: 1418.300 HR IN: 6 WELDING LEAD 50' 1 WELDING GROUND CLAMP 1 WELDING ELECTRODE CLAMP SALES ITEMS: Qty Item number 1 ENVIRONMENTAL ENVIRONMENTAL/HAZMAT FEE 2133. 1 RENTAL PROTECTION PLAN BILLED FOR FOUR WEEKS 9/15/20	TOTAL: 1 5.( 5.( 5.( 5.( F Unit Price EA 11.200 XXX0000 EA	418.300 00 5.00 00 5.00	15.00 15.00 15.00	45.00 45.00 45.00	270.00 45.00 1060.00 11.20 159.00

Equipment. Service. Gi	laranteed.	SUBTOTAL	1,230.20
REMIT TO:		SALES TAX	73.82
SUNBELT RENTALS, INC. PO BOX 409211 ATLANTA, GA 30384-9211	NET DUE UPON RECEIPT Invoices not paid within 30 days may be subjec to a 1-½% per month charge.	INVOICE TOTAL	1,304.02

4 WEEK BILL

	NBELT RENTALS, INC. PO BOX 409211 ANTA, GA 30384-9211	INVOICE NO	D. 100896	5989-0008
SUNBELT.	WIA, GA 30384-9211	ACCOUNT	0. 792594	
RENTALS		INVOICE DA	TE 10/02/	20
				1 of 1
INVOICE TO	RECEIVED BY ROGERS		CONTRACT	NO. 00896989
102-3407-4024 MIDWEST WATER OPERATIONS 1351 JEFFERSON ST STE 301 WASHINGTON MO 63090-6449	PURCHASE OF	IDER NO.		
իվիսորիրողեփիկինենկողիիկնութինում	JOB NO.	2 - WASTE	WATED TO	DEA
JOB ADDRESS WASTE WATER TREATMENT PLANT 182 E AIRVIEW DR ELIZABETHTOWN, KY 42701 636-432-6154	550B SPA	DSVILLE PC24 ARROW DR DSVILLE, KY	40	
QTY EQUIPMENT #	Min Day	week	4 Week	Amount
721103 Make: MILLER Model: BIG HR OUT: 1418.300 HR IN: 6 WELDING LEAD 50' 1 WELDING GROUND CLAMP 1 WELDING ELECTRODE CLAMP ALES ITEMS: Qty Item number Unit 1 ENVIRONMENTAL EA ENVIRONMENTAL/HAZMAT FEE 2133XXX0000 1 RENTAL PROTECTION PLAN EA BILLED FOR FOUR WEEKS 9/15/20 THRU	TOTAL: 1418.300 5.00 5.00 5.00 5.00 5.00 5.00 Rental Sub-1 Price 11.200	15.00 15.00 15.00	45.00 45.00 45.00	270.00 45.00 1060.00 11.20 159.00

Equipment. Service. Gi	SUBTOTAL	1,230.20	
REMIT TO:		SALES TAX	73.82
SUNBELT RENTALS, INC. PO BOX 409211 ATLANTA, GA 30384-9211	NET DUE UPON RECEIPT Invoices not paid within 30 days may be subjec to a 1-½% per month charge.	INVOICE TOTAL	1,304.02

4 WEEK BILL



10301 WESTPORT ROAD LOUISVILLE, KY 40241 STORE MANAGER JOE AUTRY (502)339-7909
2305 00009 04441 10/27/20 03:05 PM
034481182610 BOX <a> CONDUIT BODY 1/2" &amp; 3/4" TYPE X 508.11</a>
034481227014 3/4 90 BELL <a> 40.55 ELBOW 3/4" SCH40 90DEG BELL END 7@0.94</a>
034481155522 .75 STRP 20 <a> 6.58 CLAMP NM 2-HOLE STRP 20 <a> 6.58</a></a>
034481048992 FCS OUT/BX <a> 7.66 FSC 3/4" POX 1 OT/BX <a> 6.55</a></a>
15A LT ALMOND TOGGLE SWITCH 1.69
2002.98 MAX REFIND VALUE #50 00 00 59.60
59.60 Instant Vol Savings MUST RETURN ALL ITEMS FOR A FULL REFUND
SUBTOTAL 113.69 SALES TAX 6.82 TOTAL \$120.51
XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
USD\$ 120.51 AUTH CODE 033527/7093063 TA Chip Read ATD A0000000041010 Mastercard
AUTH CODE 033527/7093063 TA Chip Read
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercard
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercard P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 DETUDU DOLLOV DEFINITIONS
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021 Due to COVID-19, we have extended our returns policy for most items. Please see homedepot.com for details.
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercard P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021 Due to COVID-19, we have extended our returns policy for most items. Due to covID-19, we have extended our returns policy for most items.
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021 Due to COVID-19, we have extended our returns policy for most items. Please see homedepot.com for details. ************************************
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021 Due to COVID-19, we have extended our returns policy for most items. Please see homedepot.com for details. ************************************
AUTH CODE 033527/7093063 TA Chip Read AID A0000000041010 Mastercand P.0.#/JOB NAME: RIVER BLOK 2305 10/27/20 03:05 PM 2305 09 04441 10/27/2020 9438 RETURN POLICY DEFINITIONS POLICY ID DAYS POLICY EXPIRES ON A 1 180 04/25/2021 Due to COVID-19, we have extended our returns policy for most items. Please see homedepot.com for details. ************************************

2

Entries must be completed within 14 days of purchase. Entrants must be 18 or older to enter. See complete rules on website. No purchase necessary

### Sales Invoice



### Louisville KY #180 13909 Aiken Rd

Louisville, K W: (502)245	Y 40245-4625 -0465					
Ordered	Order#		PO#		Invoiced	Invoice#
10/13/2020	104100631-00	)1	Chris 502-509-	-8583	10/26/2020	104100631-001
Printed	Requested for	Shi	p Via	Custom	er Contact	Sales Associate
10/28/2020		Cus	stomer Pick up	Cash Co	onsumer	Jimmy Morris

Sold To:

Cash Sales Consumer - Louisville (#7385) 13909 Aiken Rd
C/O: Cash Customer
Louisville, KY 40245-4625
W: (502)245-0465 F: (502)245-0455
Ship To:
Cash Sales Consumer - Louisville (#7385)
THIS IS YOUR RECEIPT
13909 Aiken Rd
C/O: Cash Customer
Louisville, KY 40245-4625
W: (502)245-0465 F: (502)245-0455
For Chemical Emergency Spill, Leak, Fire,

Exposure, or Accident Emergency Response Assistance, call: CHEMTREC Day or Night- 1 (800) 424-9300

LN	ltem#	Description	Qty Ordered	Qty Shipped	Qty Open	Net Price	Ext. Price
_		NDS Drain Basin Square Black Plastic 2-Outlet 24 in. x 24 in.	2	2		339.219/EA	678.44
2	NDS2412	NDS Drain Grate Square Polyolefin Green 24 in.	2	2	0	329.809 / EA	659.62
3	ADS6510100	ADS 6 in. Single Wall Solid Pipe 100 ft.	100	100	0	1.882/FT	188.20
4	11051200	NDS Catch Basin Outlet Adapter Universal Locking Black Plastic 6 in.	3	3	0	9.706 / EA	29.12
5	NDS1206	NDS Catch Basin Outlet Adapter Plug Universal Black Plastic 6 in.	1	1	0	5.791 / EA	5.79
6		NDS 24 in. Square Catch Basin Outlet Adapter Universal Black Plastic 10 in. & 12 in. Pipe Includes P	4	4	0	53.986 / EA	215.94

PAYMENT:

MasterCard \$1883.74 014269

\$1777.11 Subtotal: Sales Tax: \$106.63 Freight: \$0.00 Total: \$1883.74 \$1883.74 **Total Payment:** Amount Due: \$0.00

Chin Carrol

\*1804

#### CUSTOMER SIGNATURE:

SiteOne Landscape Supply warrants that all products conform to the description on the label. Because conditions of use, which are of critical importance are beyond our control, seller makes no warranty, expressed or implied, concerning the use of these products. No employee of the company is authorized to make any warranty or representation, expressed or implied, concerning our products. Always follow directions and carefully observe all precautions on the label or manufacturer's instructions. Products used contrary to directions may cause serious plant or personal injury. Buyer assumes all risk of use of handling whether in accordance with direction or not and accepts the products sold to them by this company on these conditions.

Note: Returns subject to 25% restock charge.

Acct#:

Auth#



CUSTOMER ANDY DIETZ | Area Business Manager OBSESSED 502-817-0722

We are 100% committed to your success. Please don't hesitate to contact me directly at the number above with feedback and input regarding your visit to our store today.

Check out the New SiteOne.com Shop our Catalog, Get Pricing, and Place an Order 24/7/365. Visit today at siteone.com Get 5% off your first order up to \$500 off when you use promo code WELCOME at checkout.

	11/100					-	-	-	PACKING	4	and and
*	Welders Supply						016673		SLIP		
B B Y S H H P	WELDERS SUPPLY CO 331 BOXLEY AVE LOUISVILLE KY 4020	) ATION **		VILLE			Order D	der 0 vate 1	88547487 4561 1667177- 0/14/202 001 OF	00	
INTROFEST	WATER OPERATION	Territory	13	NAL WITLI	IN -NON	E-	man have	tials rder Type	BW CC -COD	-	
PIO Number SEE BELO	RROL	Branch	00	11 000	PAID		De	ate/Time sername	14-0CT-20	10:46AM	
Phone 636-432-6	432	Status	LINE NO.	ITEM NUMBER	LOC ORDERED	CYLIN	DERS V RETN W	OLUME		XTENDED	
Cas E/O RIVE	**** COD ORDER ********	, 2.2	1	USTOMER GAS 0X200 WCL175831 (Re VIC 03300006 VIC 03300007 LIN 13182304	1 1 turn) 1 1 1 1 1 50	0	1 BIN LOC DRAWER DRAWER PLT-B	0 .00 WEIGHT .00 .00 .00	30.9445 30.3100 30.3100 3.4200	30.94 T 30.31 T 30.31 T 171.00 T	+ hillabl
50 LB	COD CUSTOMER 40448 BALANCE DUE UPON REC. CHECK FOR OPEN IN								Subtotal Tax Total Sale	262.56 15.75	K
2 erchant ID: 000011129 uth: 059410 Wy signature on this	****1804 320 Client ID: 11073 Trx type: PRE_AU document indicates I agree	500010 TH to pay	001 the	Terminal :	Hel Falco	to my	T	a second second	ion ID: 318	278.31 84086314	
		- Cale	20.00	CUSTOMER'S					-		
incorporated by reference	supplyce.com (the Territor)	f this re	sceib	L.							
Classic of Centify that the	herein named materials are		6 10		-						_
Vau Blinne in IUI II BIN				FILLED/DELIVE BY	ERED					DATE	
ON CHEMICAL EMERG	ENCY CALL INFOTRAC 1-80	0-535-5	053 CH	STOMER COP	Y						-
T			1	91						14	



#### LOWE'S HOME CENTERS, LLC 100 LOWE'S DRIVE ELIZABETHTOWN, KY 42701 (270) 737-5500

- SALE -SALES#: S0460AL2 2564008 TRANS#: 27436219 10-11-20

and the second	1613891 RED STEEL VAR 9-13 ADF HE	99.00
	689766 DW 1/2-IN INDUSTRIAL COBA 4 0 19.48	
	841577 DW HP 4-1/2-IN X FAST ABA	52.20
	15 0 3,48 178831 DV HP 4-1/2-INX 0.045-IN	14.90
	5 0 2.90 22459 DV HP 4-1/2-IN X 1/8-IN 2	5.96
- CO	2 8 2.98	
	20139 DW HP 14-IN X 7/64-IN ABA 9 8 5.98	62.82
	SUBTOTAL:	312.80
	TAX:	18,77
	INVOICE 47279 TOTAL:	331.57
	H/C:	331.57
	M/C: XXXXXXXXXXXX8906 AMOUNT:331.57	AUTHOD: DISAAA
	CHIP REFID:046047351588 10/11/20 CUSTOMER CODE: river blu	13:08:53
	APL: Mastercard TUR: 00000	08000
	AID: A000000041010 TSI:	E800
STATISTICS.	STORE: 460 TERMINAL: 47 10/1	1/20 13:10:19
	OF ITEMS PURCHASE EXCLUDES FEES, SERVICES OND SPECTAL	D. 26

### Split - \$19.68 - Fox Run, LH Treatment, Brocklyn, River Bluff, Lake Columbia, Kingswood, Persimmon Ridge. \$19.65 - Airview Wastewater

Order Number: 77787848 Placed: 10/26/2020 Payment: Complete Status: On Hold Estimated Delivery: 10/30/2020 (view shipping details below)

	Billing Information	Shipping Information	Other Information			
Name: CHRIS Address Line Address Line City: WASHIN State/Prov/Reg Zip: 63090 Country: Unite	1: 1351 JEFFERSON STREET 2: SUITE 301 GTON g: MO	Name: CHRIS CARROLL Address Line 1: 398 E GAP HILL RD Address Line 2: City: CUB RUN State/Prov/Reg: KY Zip: 42729-8623 Country: United States	Email: ccarrol@midwestwaterop.cc Telephone: 502-509-8583 Shipping Method: Ground			
Ordered I	tems:	City.	Price	Item Total		
Manager and Manage	Customized Sign Custom Sign ID: 876800088 12" x 9"; Auminum (.040) Single-Sided Full Color View Proof	24	\$8.25	\$198.00		

Payment In	Payment Information		\$198.00 (\$49.50)
Card Type: MasterCard Card Number: XXXXXXXXXXXXX1804	Payment Status: Complete	Shipping: Tax:	\$0.00 \$8.91
Expiration: 8/2023		Total:	\$157.41



Salesperson: Latoya Hagan

Order Notes: Customer paid in full

#### Order Form

Manufacturer Contact Information: Country Cabins 2965 Wheat Ridge Rd West Union, OH 45693

Phone: 937-544-0898 Office Fax: 937-544-7826

10/28/2020	Size: 10 X 12	Window & door pla	acement:				
ShedHub ID: 111612 Serial #:6741 First assigned to: CCWestUnion	Cabin Style: Garden Shed Siding Style: LP Dutchlap Cabin Color: GP Gray Door Color:	PLEASE PROVIDE SKETCH!					
✓ Stock Order ✓ Cash Sale ✓ Display Model	Trim Color: Chestnut Brown Urethane Metal Roof Color: Charcoal		I LEASE I NO VIDE SKETCI				
Customer: Chris Carroll	Item	Unit Cost	Units	-			
Delivery Address:	Base shed	\$3382.5	1	\$3382	2.5		
3243 Frankfort Rd,	Windows 24in X 36in un-insulated	\$95	1	\$95			
Georgetown, KY 40324	Transom Window	\$50					
	Workbench	\$12					
County:SCOTT COUNTY, KY (6.00%)	Tote Storage Shelving	\$18					
Cell#: 5025098583	Garden or Classic Archs (edit line to pick style)	\$15					
Home#: 5025098583 Work#:	Shutters Set	\$40	ļ				
Email: ccarroll@midwestwaterop.com		1	Subtot	al: <b>\$3477</b>	7.50		
Where did you hear about us? Phone			Ta	ıx: \$208.	65		
and w/door facing, passanger side			Deliver	ry: \$0			
Load w/door facing: passenger side			Tot	al: <mark>\$3686</mark>	5 <mark>.15</mark>		
Dealership Name: Shed Squad		Dow	vn Payme	nt: \$0			
Georgetown		Due	on Deliver	y: \$3686	5.15		

The parties agree that this agreement may be electronically signed. The parties agree that the electronic signatures appearing on this agreement are the same as handwritten signatures for the purposes of validity, enforceability and admissibility.

You may withdraw your consent to receive electronic documents, notices or disclosures at any time. In order to withdraw consent, you must notify the sending party that you wish to withdraw consent and request that your future documents, notices and disclosures be provided in paper format. To request paper copies of documents; withdraw consent to conduct business electronically and receive documents, notices or disclosures electronically; or withdraw consent to sign documents electronically, please contact the sending party by telephone, postal mail or email.

Customer Signature:

Chris Carroll

#### Payment Method:

I hereby agree to pay the above stated amount. Prices stated are valid for 90 days from date above. Country Cabins and its agents, and drivers, are NOT responsible for permits, setbacks, restrictions, or covenants. PLEASE contact your local codes department or Homeowners Association. It is up to the customer to decide whether ground conditions are suitable for delivery. Country Cabins and its agents and drivers are NOT responsible for yard or driveway damage. Free delivery and setup incudes ONE TRIP. Additional trips may incur charges to the customer. Free delivery does not include ground anchors. First 30 miles free delivery from lot, thereafter \$3.25 per mile. Blocking fees may be charged additional if building is delivered to an unlevel location. Please consult your sales agent for recommendations for a properly prepared site. I, the customer, have read and understand this disclosure, and fully accept the terms provided therein.

### Thank you for your order!

### Here's what you can expect next

### Getting your structure scheduled for delivery

You will be contacted by Country Cabins' scheduler before delivery is made to have your shed delivered to your property. <u>Please note that your scheduled delivery date is not confirmed until contacted by a delivery driver.</u>

- 1. For custom orders: this contact will happen in approximately 3 weeks after the order date to allow for the shed to be constructed.
- 2. For stock/lot models you will be contacted in 5-7 business days from order date.

If you are not contacted within the timeframes stated above, please call our scheduler to check on the status of your structure. The number to call is 937-515-4419. You may also email <u>countrycabins2@gmail.com</u>

Every Country Cabins structure has a 6-digit ShedHub ID number to help us identify your shed. Please have this number on hand when contacting Country Cabins:

### ShedHub ID: 111612

Please note that sometimes we will need to reschedule your shed's delivery due to wet or soggy conditions, traffic conditions, mechanical malfunctions, driver availability, or other unforeseen circumstances. If this occurs we will do our best to have the shed delivered as soon as we can.

Any changes made to your custom order are be made through your salesman with-in 5 business days of the original order date.

### Getting ready for delivery

Before delivery occurs, please make sure your site is ready for when the shed arrives. Here are some items to make sure delivery goes as smoothly as possible.

We use our "Mule" delivery system to deliver structures. The shed will be slid off of our delivery truck and maneuvered by our mule to its final location. When delivered by mule **please make sure the path to the shed's final location is 4 feet wider than the width of your structure.** If there are fences or other items blocking the path you will need to make accommodations before delivery occurs with scheduler.

You may want to have a local sales specialist inspect your property before delivery to make sure the structure can be delivered to your desired location. Your dealer may charge a non-refundable fee for this inspection, and it may be requested before your order is placed.

An ideal pad to set your shed is on concrete or level gravel. If you have a concrete pad you want it to be shorter and narrower than your roof overhang and just slightly off level so water can run off. If you have a level gravel pad your water will drain away. Gravel pads should be two feet bigger than the building size so water can drip into the gravel and drain away. If you must set it on sod (grass) with blocking be aware that your barn WILL settle and you may notice that your doors are not closing properly, so you may need to re-level occasionally with shims until your building is done settling.

### **Site Pad Preparation**

Ideal: Crushed 304 limestone gravel, 4 inches thick, and patted down and perfectly level. Pad dimensions should be 2 feet wider and 2 feet longer than the dimensions of your structure. This scenario is ideal as it provides a hard surface for your shed that minimizes settling and provides good drainage.

and the second second

OK: Level ground. This provides a semi-solid surface that minimizes settling, however drainage may not be ideal and soggy conditions may see your shed settling some over time.

Acceptable: Ground with a very slight slope. Some blocking is required. For sheds under 40 feet long we can complete blocking up to 16 inches under the edge of the shed that needs to be raised up the highest. For structures over 40 feet long we can safely complete blocking up to 4 inches off of the ground. The entrance of the shed is ideally touching solid ground so that it is fully supported, and makes for easier entry in and out of the shed. This scenario provides drainage, but may see some settling over time and may need to be reblocked at a future date. Any costs associated with reblocking your shed after 30 days after delivery will be additional.

Undeliverable/Unsafe: Heavily sloped surfaces require too much blocking. For the safety of the structure and the items inside - including people - we will hold onto the shed for up to 60 days until you are able to make arrangements to provide a level area for delivery.

#### Blocking Costs

If you will need your shed blocked higher than 8 inches please provide the necessary clean and undamaged blocks at the time of delivery. If there are not enough block the driver will provide some extras at \$2/block payable at the time of delivery. Blocking costs are not considered part of your shed order. If you know your shed will need blocking provided by Country Cabins, please have your dealer note that on the delivery order so we can make arrangements to bring the necessary block with delivery. We require blocking of your building on every corner and a minimum of every 8ft of floor surface area.

Large chain home improvement centers, and local hardware stores are good places to find the necessary blocking.









1in 304SS 150Ib 90DEG ELL

\* Complete Order \*



Plumbers Supply Co. P.O. Box 6149 Louisville, KY 40206

0

4

EA

7.39

### Branch 01 Louisville Main

Please Remit Payment To:

Cincinnati, OH 45263-4623

Plumbers Supply Co.

P.O. Box 634623

Questions about this invoice? Call 502-540-0346



	Customer				**************************************			Dete	Discount	Amount
	Participant in the second	Number n Rogers		Te	rm Description COD	Net Due Date 10/15/2020	Disc Due 10/15/2		0.00	
	rder Date	Pick Ticl	kot No		Primary Sale				Taker	
	0/15/2020	31788			Louisville			CH	RIS.FLETC	HER
		Quantities	UO	V	Item ID	00	Pricing UOM			Extended Price
Line #		WC: Will (	maining U	nit Size	Tracking #:					
1	100	100	0 FT	1.0	(001) PVC80P	E1 E PIPE 1in 20ft	FT		1.00	100.00
2	50	49	0 EA	1.0	C (002) 847-010 1 SCH80 PVC		EA		3.40	166.60
3	50	50	0 EA		(003) 836-010 1 SCH80 PVC		EA		4.06	203.00
4	40	40	0 FT	1.0	(004) SS304L4		FT		13.58	543.20
5	4	4	0 EA	1.0	(005) 304SS90 2 304SS 150lb	)L2	EA		20.31	81.24
6	3	3	0 EA	1.0	(006) 304SST2 2 304SS 150lb	2	EA		31.70	95.10
7	3	3	0 EA	1.0	(007) 304SSB 2X1 304SS 150	2.1	EA		17.00	51.00
8	10	10	0 EA	1.0	(008) 304SSN 1X2 304SS SC Alternate # 411	1.2 H40 NIPPLE	EA		3.15	31.50
9	3	3	0 EA	1.0	VALVE	1 RASS FP THRE L, 600psi, 2pc VAL			21.80	65.40
10	3	3	0 EA	1.0	(010) 304SSU 1 304SS 150lb	1	EA		20.22	60.66
RIGINA	12									



Plumbers Supply Co. P.O. Box 6149 Louisville, KY 40206

# Branch 01 Louisville Main

Please Remit Payment To:

Plumbers Supply Co. P.O. Box 634623 Cincinnati, OH 45263-4623 Questions about this invoice? Call 502-540-0346

# INVOICE



Quantities						in the second	Item ID	Pricing UOM	Unit	Extended
Line #	Ordered	Shipped	Remaining	UOM Uni	it Size	Disp.	Item Description		Price	Price
11	4	4	0	EA	1.0		(011) 304SS90L1 1in 304SS 150lb 90DEG ELL	EA	7.39	29.56
12	20	20	0	FT	1.0		(012) SS304L401 1in 304/304LSS SCH 40 PIPE	FT	6.63	132.6
	Total Line	s: 12						SUB-	TOTAL:	1,559.8
								Kentucky 2	Taxable:	93.5
								Mas	tercard :	1,653.45
								AMOUN	IT DUE:	0.0

Terms and Conditions: Plumbers Supply Co. does not manufacture the goods it sells and makes no express warranties thereon. Specifically, PSC disclaims all implied warranties, including any warranty of merchantability or fitness for a particular use. Claims for shortages must be received within 48 hours of receipt of material. No returns without prior consent of PSC and original pick ticket or invoice number. Special Order and Non-Stock items are non-returnable. A 25% Restocking charge applies to all returned material. Finance Charge of 1.5% per month will be applied to all delinquent balances. In the event of any default in payment, Purchaser shall pay all attorney fees and/or collection costs, equal to 25% of the balance of the account, which parties agree are reasonable.

\*\*\* Effective June 1st , 2013, Plumbers Supply Company will no longer accept returns for materials that are not in compliance with the 2014 standards of the Federal Reduction of Lead in Drinking Water Act.\*\*\*



	7	
LOWE	S	
LOWE'S HOME CENTERS, LLC		
880 CONESTOGA PARKUAY	215-2600	
SHEPHERDSUILLE, KY 40165 (502)		
- SALE -		
LES#: S2945CP1 3386313 TRANS#: 1167	1051 10-14-20	
208735 LNX 7-1/4-IN 40T STL SAW	49.98	
698365 LINCOLN 1-STRIKER W/S-FLI	4.98	
1062236 CFT HI-VIS 25FT TAPE(-948		
4 8 7.98	CONTRACT (*** (**	
877121 1-1/2-IN BRB X MIP NL AD	10.96	
334265 SHARPIE FINE BLACK	5.88	
6 9 0.98		
194254 BURRO 29-IN CONTRACTOR SA	43.96	
2 8 21.98	And States in the local sector	
955621 SUNP PMP 1/2HP CI CNTRCT	272.25	
CUDTOTAL .	410.05	
SUBTOTAL :	419.95	
TAX:	25.20	
INVOICE 11156 TOTAL:	445.15	
H/C:	445.15	



Product	Qty	Length	Unit	Unit Price 0.273 x WT 0.17)	Dimension	Total
Contact Phone: 636-432-6154				Delivery Wethod. Doin		Total
Louisville, INT				Customer Rep: John H Delivery Method: Delivery		
MIDWEST WATER OPERATIONS Louisville, KY				Terms: Immediate		
ATTN: JON ROGERS				Shipment Date: Oct-19 Payment Method: Cred	-2020 it Card - MASTER	
Ship to				Invoice Date: Oct-19-20	)20	
Tax ID: Shin to				Customer Purchase Ord Sales Order: 1028722	ler # RIVERBLUFF	
Phone: 636-432-6155 Fax:				Sales Tax # 82-2677476	5	
				E-Mail: louisville@metal	supermarkets.com	
ATTN: ANDREW				Louisville, KY 40218 Phone: (502) 479-3231	Fax: (502) 479-3236	
				4620 Shepherdsville roa	d	
Louisville, KY				See remit to auc		

		15	240	IN	0.25302	15 @ 240 IN	910.00	
CTSQ/15001500083	Steel Square Tube A5	500/A513 (V 17	Velded) 1.50 288	0 X 1.500 > IN	( 0.083 0.12831	17 @ 288 IN	628.21	
HA/22188	Hot Rolled Angle 2.00	00 X 2.000 > 12	< 0.188 240	IN	0.01995	12 @ 240 IN	57.45	
ABG6061194/1125	Aluminum Bar Gratin ALUMINUM BAR GR WILL DELIVER AS S Delivery Services	4 SATING IS E	36 x 288 DUE THE W	SQFT EEKENDIN	9.24375	4 @ 36 x 288 IN	2,662.20	
	Dolivery Method: De	livery Our T	ruck , 1320	1 creekvie	w rd prospect ky		0.00	

Delivery Method: Delivery Our Truck , 13201 creekview rd prospect ky MUST BACK DOWN DRIVEWAY TO THE BOTTOM OF HILL. VERE TO THE LEFT. YOU WILL SEE 2 TREES AND MATERIAL ON THE GROUND. PLACE YOU DELIVERY ON TOP OR NEXT TO MTAERIAL BY BETWEEN THE TREES NOTE: RESIDENTIAL NEIGHBORHOOD



Unit Unit Price Dimension Total
Delivery Method: Delivery
Terms: Immediate Customer Rep: John Hajek
Payment Method: Credit Card - MASTER
Shipment Date: Oct-19-2020
Invoice Date: Oct-19-2020
Sales Order: 1028722
Customer Purchase Order # RIVERBLUFF
Sales Tax # 82-2677476
E-Mail: louisville@metalsupermarkets.
1500) 179-3231 Fan. (****
Louisville, KY 40218 Fax: (502) 479-3236
4620 Shepherdsville road





Remit to Address: 4620 Shepherdsville Rd., Louisville, KY 40218, Phone: (502) 479-3231, Fax: (502) 479-3236

For a 1 minute customer service survey, please go to feedback.metalsupermarkets.com

For full terms and conditions of sales please refer to http://metalsupermarkets.com/terms-of-sale/



BRANCH 156 11109 DECIMAL DR LOUISVILLE KY 40299-2439 502-962-6354

```
MIDWEST WATER
      .09 DECIMAL DR
27
  LOUISVILLE KY 40299-2439
doP
```

Office: 636-432-6155 Cell: 270-519-8994

# MIDWEST WATER OPERATIONS LLC 1351 JEFFERSON ST STE 301

# **RENTAL AND SERVICE** AGREEMENT # 185951383

	100001000
Customer #	: 4206686
Agreement Date	: 09/15/20
Rental Out	: 09/15/20 09:57 AM
Scheduled In	: 10/13/20 09:57 AM
UR Job Loc	: 11109 DECIMAL DR, LO
UR Job #	: 7
Customer Job II	
P.O. #	: NPOR
Ordered By	: ZACH ROACH
	: BRETT OGUINN
Salesperson	: CHRISTOPHER MCGAUGHE

# WASHINGTON MO 63090-6449

# This is not an invoice Please do not pay from this document

RENTAL ITEMS: Qty Equipment	Description	Minimum	Day	Week	4 Week	Estimated Amt
1 10709569	PIPE THREADER 1/2"-4" 1224 POWERED Make: RIDGID Model: 1224 Serial: EB537481217		277.00	616.00	1466.00	1,466.00
1 10806049	TRAILER UTILITY 8-10' TO 2K SINGLE Make: TOW MASTER Model: T-UT4 Serial: 4KNBF131XJL163036		49.00	198.00	425.00	425.00
				Rental	Subtotal:	1,891.00
PAYMENT HISTORY DATE TYPE	REF #AUTH #TRANS TYPE**1974095214AUTHORIZED	AMOUNT 2004.46	APPLIED			
9/08/20 MASTERCAR	D			Agreement Estima	Subtotal: Tax: ted Total:	1,891.00 113.46 2,004.46

COMMENTS/NOTES:

CONTACT: ZACH ROACH CELL#: 270-519-8994 CONTACT: ZACH ROACH CELL#: 270-519-8994

\*\* ATTENTION \*\* Amount uncollected: 2,004.46

A CLEANING CHARGE WILL APPLY TO EQUIPMENT RETURNED WITH EXCESSIVE DIRT, CONCRETE, AND/OR PAINT. CUSTOMER IS RESPONSIBLE FOR ALL DAMAGE INCLUDING TIRES. THERE WILL BE AN ADDITIONAL CHARGE FOR MISSING KEYS. A REFUELING SERVICE CHARGE WILL BE APPLIED TO ALL UNITS NOT RETURNED FULL OF FUEL

SEE BELOW FOR EXPLANATION OF REFUELING SERVICE CHARGE

\* \* \* \* \* \* \* \* \* \* \*

ARE YOU OR YOUR EMPLOYEES IN NEED OF OPERATOR CERTIFICATION TRAINING? CONTACT UNITED ACADEMY TODAY 844-222-2345 OR WWW.UNITEDACADEMY.UR.COM TRAINING IS NOT AVAILABLE ON CERTAIN EQUIPMENT IN CANADA.



luegrass Water's Response to PSC 1-13 Exhibit 1-13

### **O**United Rentals

BRANCH 156 11109 DECIMAL DR LOUISVILLE KY 40299-2439 502-962-6354

t t

Sit

dob

MIDWEST WATER 11109 DECIMAL DR LOUISVILLE KY 40299-2439

Office: 636-432-6155 Cell: 270-519-8994

#### MIDWEST WATER OPERATIONS LLC 1351 JEFFERSON ST STE 301 WASHINGTON MO 63090-6449

### 4 WEEK BILLING INVOICE

#### # 185951383-002

Invoice Date : Date Out : Billed Through : UR Job Loc :	: 4206686 : 10/28/20 : 09/15/20 09:57 AM : 11/10/20 00:00 : 11109 DECIMAL DR, LO : 7
Ordered By	NPOR
Reserved By	ZACH ROACH

Terms: Due Upon Receipt Payment options: Contact our credit office 888-481-2660 **REMIT TO:** UNITED RENTALS (NORTH AMERICA),INC. PO BOX 840514 DALLAS TX 75284-0514

	ITEMS: Equipment	Description	Minimum	Day	Week	4 Week	Amount
1	10709569	PIPE THREADER 1/2"-4" 1224 POWERED Make: RIDGID Model: 1224 Serial: EB537481217		277.00	616.00	1466.00	1,466.00
1	10806049	TRAILER UTILITY 8-10' TO 2K SINGLE Make: TOW MASTER Model: T-UT4 Serial: 4KNBF131XJL163036		49.00	198.00	425.00	425.00
					Agreement	Subtotal: Subtotal: Tax: Total: nce paid:	1,891.00 1,891.00 113.40 2,004.40 2,004.40
COMMEN	TS/NOTES:					-	·
	CONTACT: Z CELL#: 270 CONTACT: Z	-519-8994					

CELL#: 270-519-8994 CONTACT: ZACH ROACH CELL#: 270-519-8994

Billing period: 28 Days From 10/13/20 09:57 AM Thru 11/10/20 09:57 AM

ARE YOU OR YOUR EMPLOYEES IN NEED OF OPERATOR CERTIFICATION TRAINING? CONTACT UNITED ACADEMY TODAY 844-222-2345 OR WWW.UNITEDACADEMY.UR.COM TRAINING IS NOT AVAILABLE ON CERTAIN EQUIPMENT IN CANADA.

NOTICE: This invoice is subject to the terms and conditions of the Rental and Service Agreement, which are available at https://www.unitedrentals.com/legal/rental-service-terms-US and which are incorporated herein by reference. A COPY OF THE RENTAL AND SERVICE AGREEMENT TERMS ARE AVAILABLE IN PAPER FORM UPON REQUEST.

THANK YOU FOR SHOPPING AT BROWNSBORO HARDWARE AND PAINT (502) 292-2595
10/27/20 10:21AM KD 570 SALE
705205 2 EA \$24.99 EA 1280Z PREMIX 50:1 FUEL \$49.98
SUB-TOTAL:\$ 49.93 TAX: \$ 3.00 TOTAL: \$ 52.98 BC AMT: \$ 52.98
BK CARD#: XXXXXXXXXXXXXXXXXXX MID:***************5526 TID:***9578 AUTH: 032071* AMT: \$ 52.98 Host reference #:056229 Bat#
Authorizing Network: MASTERCARD
Chip Read CARD TYPE:MASTERCAED EXPR: XXXX AID : A000000041010 TVR : 0000008000 IAD : 101060700122000097FB000000000000 ISI : E800 ARC : 00 MODE : Issuer CVM : Name : Mastercard
ATC :0020 AC : 1F371FBF6FE1CD94 TxnID/Va1Code: 614225
Bank card USD\$ 52.98
==>> JRNL#X56229 <<== OUST NO:*2
THANK YOU CHRISTOPHER CARROLL FOR YOUR PATRONAGE
NA
Name : K I agree to pay above total amount according to card issuer agreement (merchant agreement if credit voucher) (merchant CASH CUSTOMER PROSPECT
Customer Copy



ROGERS, JON UNKNOWN HANNIBAL, MO 63401

# Comfort Inn Shepherdsville Louisville South (KY240)

191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com Account: 729111705 Date: 11/1/20 Room: 216 LMIDWE Arrival Date: 10/26/20 Departure Date: 11/1/20 Check In Time: 10/26/20 3:44 PM Check Out Time: Rewards Program ID: GP-JXR736619 You were checked out by: You were checked in by: Rcoult Total Balance Due: 0.00

and the set of the set

Post Date	Description	Comment	Amount
10/26/20	Master Card		(534.24)
		XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
10/26/20	Room Charge	#216 ROGERS, JON	80.00
10/26/20	State Tax		4.24
10/26/20	Occupancy Tax		4.00
10/26/20	Other Tax		0.80
10/27/20	Room Charge	#216 ROGERS, JON	80.00
10/27/20	State Tax		4.24
10/27/20	Occupancy Tax		4.00
10/27/20	Other Tax		0.80
10/28/20	Room Charge	#216 ROGERS, JON	80.00
10/28/20	State Tax		4.24
10/28/20	Occupancy Tax		4.00
10/28/20	Other Tax		0.80
10/29/20	Room Charge	#216 ROGERS, JON	80.00
10/29/20	State Tax		4.24
10/29/20	Occupancy Tax		4.00
10/29/20	Other Tax		0.80
10/30/20	Room Charge	#216 ROGERS, JON	80.00
0/30/20	State Tax		4.24
0/30/20	Occupancy Tax		4.00
0/30/20	Other Tax		0.80
0/31/20	Room Charge	#216 ROGERS, JON	80.00
0/31/20	State Tax		4.2
0/31/20	Occupancy Tax		4.0
0/31/20	Other Tax		0.8

# Folio Summary 10/25/20 - 10/31/20

# Room Charge

480.00



Comfort<sup>-</sup> INN

ROGERS, JON UNKNOWN HANNIBAL, MO 63401 **Comfort Inn Shepherdsville Louisville South (KY240)** 191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com

Account: 727761523 Date: 10/21/20 Room: 213 LMIDWE Arrival Date: 10/15/20 Departure Date: 10/21/20 Check In Time: 10/15/20 5:34 PM Check Out Time: Rewards Program ID: GP-JXR736619 You were checked out by: You were checked in by: sbrock **Total Balance Due: 0.00** 

Post Date	Description	Comment	Amount
10/15/20	Master Card		(534.24)
		XXXXXXXXXXXX8906	
10/15/20	Room Charge	#213 ROGERS, JON	80.00
10/15/20	State Tax		4.24
10/15/20	Occupancy Tax		4.00
10/15/20	Other Tax		0.80
10/16/20	Room Charge	#213 ROGERS, JON	80.00
10/16/20	State Tax		4.24
10/16/20	Occupancy Tax		4.00
10/16/20	Other Tax		0.80
10/17/20	Room Charge	#213 ROGERS, JON	80.00
10/17/20	State Tax .		4.24
10/17/20	Occupancy Tax		4.00
10/17/20	Other Tax		0.80
10/18/20	Room Charge	#213 ROGERS, JON	80.00
10/18/20	State Tax		4.24
10/18/20	Occupancy Tax		4.00
10/18/20	Other Tax		0.80
10/19/20	Room Charge	#213 ROGERS, JON	80.00
10/19/20	State Tax		4.24
10/19/20	Occupancy Tax		4.00
0/19/20	Other Tax		0.80
0/20/20	Room Charge	#213 ROGERS, JON	80.00
0/20/20	State Tax		4.24
0/20/20	Occupancy Tax		4.00
0/20/20	Other Tax		0.80
		Folio Summary 10/15/20 - 10/20/20	
	Room Charge		480.00
	State Tax		25.44





INN

GRIFFIN, ANDREW 11744 HWY DD HANNIBAL, MO 63401 Comfort Inn Shepherdsville Louisville South (KY240) 191 Brenton Way Shepherdsville, KY 40165 (502) 955-5566 GM.KY240@choicehotels.com

Account: 727657452 Date: 10/16/20 Room: 312 LMIDWE Arrival Date: 10/14/20 Departure Date: 10/16/20 Check In Time: 10/16/20 10:00 AM Check Out Time: 10/16/20 10:00 AM Rewards Program ID: GP-AXG693210 You were checked out by: jwhite You were checked in by: sbrock Total Balance Due: 0.00

Post Date	Description	Comment
10/14/20	Room Charge	Amount
10/14/20	State Tax	00.08
10/14/20	Occupancy Tax	4.72

10/14/20	Uccupancy lay		
10/14/20	Other True		4.45
	Other Tax		0.89
10/14/20	Room Charge	Adjustment	(00.68)
10/14/20	State Tax	Adjustment	(4.72)
10/14/20	Occupancy Tax	Adjustment	(4.45)
10/14/20	Other Tax	Adjustment	(0.89)
10/14/20	Room Charge		80.00
10/14/20	State Tax		4.24
10/14/20	Occupancy Tax		4.00
10/14/20	Other Tax		0.80
10/14/20	Room Charge		80.00
10/14/20	State Tax		4.24
10/14/20	Occupancy Tax		4.00
10/14/20	Other Tax		0.80
10/14/20	Master Card		(356.16)

XXXXXXXXXXXXX6084

		#312 GRIFFIN, ANDREW	00.08
10/14/20	Room Charge	#312 GIVE THY, AND ALV	4.24
10/14/20	State Tax		4.00
10/14/20	Occupancy Tax		0.80
10/14/20	Other Tax		80.00
10/15/20	Room Charge	#312 GRIFFIN, ANDREW	4.24
10/15/20	State Tax		4.00
10/15/20	Occupancy Tax		0.80
10/15/20	Other Tax		
		Folio Summary 10/14/20 - 10/15/20	
		Folio Summary 10/14/20 - 10/15/20	320.00
	Room Charge		16.96
	State Tax		16.00
	Occupancy Tax		3.20
	Other Tax		(356.16)



Balance Due:



Com	fort:	Comfort Inn Shepherdsville Louisville South (KY240) 191 Brenton Way Shepherdsville, KY 40165	Date:	
ROGERS 48211 RE	N	(502) 955-5566 GM.KY240@choicehotels.com		10/11/20 1:54 PM GP-JXR736619 sbrock
Post Date	Description	Commant		Amount
10/11/20	Master Card			(356.16)
10/11	-	XXXXXXXXXXXXXXXX8906		
10/11/20	Room Charge	#213 ROGERS, JON		80.00
10/11/20	State Tax Occupancy Tax			4.24
10/11/20	Occupancy Fax Other Tax			4.00 0.80
10/12/20	Room Charge	#213 ROGERS, JON		80.00
10/12/20	State Tax	to the resource, being		4.24
10/12/20	Occupancy Tax			4.00
10/12/20	Other Tax			0.80
10/13/20	Room Charge	#213 ROGERS, JON		80.00
10/13/20	State Tax			4.24
10/13/20	Occupancy Tax			4.00
0/13/20	Other Tax			0.80
0/14/20	Room Charge	#213 ROGERS, JON		80.00
0/14/20 0/14/20	State Tax			4.24
0/14/20	Occupancy Tax Other Tax			4.00
MINESS	Sand 198			0.80
	Person Change	Follo Summary 10/11/20 - 1	0/14/20	
	Room Charge Stale Tax			320.00
	Occupancy Tax			16.96
	Other Tax			16.00
	Master Card			3.20
	Master Card			(356.16)
	Menanese and address		200000000	0.00
			Balance D	Que: 0.00



### 1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01663 <b>-B</b>

Invoice

### DATE RCVD<sup>01/11/21</sup> GL CODE 107.001 PRCD BY Krista GL DATE 12/1/20

### Midwest revised after the first issue so \$312.04 still due

### APPROVED By JayFavor at 7:15 am, Jan 12, 2021

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/2/2020	Capital Project	General Plant WW	WO 270933594 Installed signage K.C.	2	75.00	150.00
10/2/2020	Capital Project	General Plant WW	WO 270961114 Planning upgrades and capital projects CC	6	75.00	450.00
10/11/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Handrail removal, metal preparation for cross member installation, materials acquisition. JR	9	100.00	900.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing old pipes and walkways.AG	12	75.00	900.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Remove old supports from aeration tank 2, weld in new ones. Began putting in walk way and hand rails	10	75.00	750.00
10/12/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of rusted handrail and cross supports, metal preparation for new. JR	11	100.00	1,100.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing rusted support beams and replacing them with new. CC	11	75.00	825.00
10/12/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams. JM	11	75.00	825.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Remove old pipes and walkways .AG	12	75.00	900.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed rusted supports from aeration tank 2 and weld in new ones	9	75.00	675.00
10/13/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of rusted supports and handrail, metal preparation for installation of new. JR	12	100.00	1,200.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing old support beams and railing, adding new support beams and railing. CC	4	75.00	300.00
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Materials acquisition for new drainage system CC	4.5	75.00	337.50
10/13/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams.JM	11	75.00	825.00
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed and replaced old pipes and walkways AG	12	75.00	900.00
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Install hand rail and walk way on aeration tank 2. Thread air header pipe	10	75.00	750.00
10/14/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of cross supports, installation of bar grating, solids removal from aeration 2 for construction JR	11	100.00	1,100.00
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams CC	9.25	75.00	693.75
10/14/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams. JM	11	75.00	825.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Replaced pipes and walkways AG	11	75.00	825.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Installed air header. Install handrail and supports above clarifier	9	75.00	675.00
10/15/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Threading, fabrication, installation of air header in aeration 2 tank. JR	12	100.00	1,200.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams CC	5	75.00	375.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Preparing for new rails and a new building.	2	75.00	150.00
10/15/2020	× 0	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beam JM	7	75.00	525.00
10/15/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	4	75.00	300.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Installed new piping and walkways AG	12	75.00	900.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Thread pipe for aeration tank 1 air header. Sludge and debris removal from the clarifier on aeration tank 2. Install handrails.	9	75.00	675.00
10/16/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication, threading and pre assembly of aeration 1 air headers. JR	12	100.00	1,200.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams CC	3	75.00	225.00
10/16/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/17/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication and welding of	11	100.00	1,100.00
			walk grate supports, threading of clarifier air manifold 2. JR			
10/18/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Preparation for aeration 2 tank clean out, pressure test new air manifold, welding of supports. JR	11	100.00	1,100.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Install handrails, straighten up air header fittings, return lines for clarifier	9	75.00	675.00
10/19/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Removal of old handrail and antiquated components on aeration 1 and 2, prefabricate supports, acquire materials for upgrades. JR	11	100.00	1,100.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rusted beams, rails, and pipes. Creating drain system to stop erosion problem. Lighting added to facility.	7.5	75.00	562.50
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/19/2020	Capital Project	Treatment & Disposal	WO 270961114 Replacing old rails with new. JRD	11.5	75.00	862.50
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Thread pipe for aeration tank 1. Work on clarifier for aeration tank 2	9	75.00	675.00
10/20/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of supports, installation of aeration headers on aeration 2. JR	12	100.00	1,200.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed debris ZW	5	75.00	375.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams	11	75.00	825.00
10/20/2020	Capital Project	Treatment & Disposal	WO 270961114 Replacing old rails with new JD	11	75.00	825.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Sludge and debris removal from aeration tank 2.	9	75.00	675.00
10/21/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding, metal preparation on aeration 2. JR	12	100.00	1,200.00
	I	1	Total		I	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams. Also draining and cleaning debris out of tank CC	5	75.00	375.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams. Cleaning solids and debris from inside the tank JM	11	75.00	825.00
10/21/2020	Capital Project	Treatment & Disposal	WO 270961114 Continued replacing rail, cleaned solids and debris out of tank JD	11	75.00	825.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Welding in supports for aeration tank 1	9	75.00	675.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Removing and replacing old rails, piping, and beams. Also draining and cleaning debris out of tank CC	5	75.00	375.00
10/22/2020	Capital Project	Treatment & Disposal	WO 270961114 Continued cutting old braces for walk ways out and replaced with new for new walk way and rails JD	11	75.00	825.00
10/23/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/23/2020	Capital Project	Treatment & Disposal	WO 270961114 Welded the rest of the braces for walk ways in so walk way can be installed JD	11.5	75.00	862.50
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Aeration tank 1 supports and handrail	9	75.00	675.00
10/26/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Welding of safety rail, grating supports aeration 2. JR	11	100.00	1,100.00
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/26/2020	Capital Project	Treatment & Disposal	WO 270961114 Got grate for walkway out in place, pulled wire for lights under shed roof-JD	10	75.00	750.00
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Aeration tank 1supports and handrail, aeration tank 2 build wall in clarifier tank	9	75.00	675.00
10/27/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Cut, thread, partially assemble aeration header for aeration 1. JR	11	100.00	1,100.00
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice
---------

Date	Invoice #
11/30/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11	75.00	825.00
10/27/2020	Capital Project	Treatment & Disposal	WO 270961114 Cut and installed handrails, started running conduit for lights under shed roof- JD	11.5	75.00	862.50
10/27/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Skimmer and return lines on aeration tank 2, lights above aeration tank 1	10	75.00	750.00
10/28/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Install, fabrication of handrail, cross supports on aeration 1. JR	12	100.00	1,200.00
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Oversight of capital project	4.5	75.00	337.50
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	11.5	75.00	862.50
10/28/2020	Capital Project	Treatment & Disposal	WO 270961114 Removed debris from tank, ran conduit for lights over first tank and put fittings for aeration system- JD	11	75.00	825.00
10/28/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/29/2020	Capital Project	Treatment & Disposal	WO 270961114 Install support hangers from return lines and skimmers on aeration tank 2 Weld supports and hand rail on third tank	11	75.00	825.00
10/29/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Installed sludge return lines, air lift components, air supply lines in aeration two. JR	12	100.00	1,200.00
10/29/2020	Capital Project	Treatment & Disposal	WO 270961114 Removal and replacement of rusted pipes and beams JM	13	75.00	975.00
10/29/2020	Capital Project	Treatment & Disposal	WO 270961114 Cut old walk way out on 3rd tank and put half of new walkway in, cleaned up metal from old walk way and rails- JD	13	75.00	975.00
10/29/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/30/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Fabrication of cross member supports, handrail on chlorine contact tank. JR	11	100.00	1,100.00
10/30/2020	Capital Project	Treatment & Disposal	WO 270961114 Braced bridge between the two tanks cut rest of walkway out and welded handrails in place and put new grate down for walkway- JD	11.5	75.00	862.50
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

In	voi	ce

Date	Invoice #
11/30/2020	01663

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/30/2020	Capital (Expert Oper	Treatment & Disposal	WO 271018299 Sludge removal TMS	15	100.00	1,500.00
10/31/2020	Non-contract (Expert	Treatment & Disposal	WO 270961114 Thread, assemble digester air	11	100.00	1,100.00
			manifold and drop down piping. JR			
	*Reimb Group					
10/2/2020		Treatment & Disposal	Sunbelt Rentals Invoice 100896989-0008		1,304.02	1,304.02
10/31/2020		General Plant WW	Central Bank Credit Card Charges-Capital		2,673.18	2,673.18
			Improvements, Construction Materials			
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charges-Capital		10,298.99	10,298.99
			Improvements, Construction Materials			
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charges-Capital		1,780.80	1,780.80
			Improvements, Travel Expenses			
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charges-Capital		4,008.92	4,008.92
			Improvements, Equipment Rental			
10/31/2020		General Plant WW	Central Bank Credit Card Charges-Capital		52.98	52.98
			Improvements, Equipment Rental			
11/9/2020		Treatment & Disposal	Welders Supply Invoice 08271246		23.15	23.15
			Total Reimbursable Expenses			20,142.04
			Markup		5.00%	1,007.10
			Total Reimbursable Expenses			21,149.14
	Vehicle Use	General Plant WW	Vehicle Use of \$35 per day	19	35.00	665.00
	*Reimb Group					
8/31/2020		General Plant WW	Central Bank Credit Card Charges-Capital		297.18	297.18
			Improvements, Travel-mistakenly billed to			
			Persimmon Ridge on Invoice #00934. Invoice			
			#00934 has been voided.			
			Total Reimbursable Expenses			297.18
			Markup		5.00%	14.86
			Total Reimbursable Expenses			312.04
			└──────└─ <b>─</b> ─	I		
			Total			\$85,819.93



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01664



107.001= \$3325 704= \$1423.72 711= \$70 713.001=\$ 490

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/9/2020	Non-contract (Operat	Collection & Pumping	-WO 271104197 Collection system inspection AG	8	107.00170.00	560.00
10/16/2020	Non-contract (Operat	Treatment & Disposal	-WO 270968055 Reset the blowers and the pumps after power failure	1	711 70.00	70.00
10/23/2020	Non-contract (Operat	Collection & Pumping	-WO 271018299 Pulled and removed root ball from pump 1 at liftstation at head of plant. Removed clog from pipe going into aeration tank 1	4	713.00170.00	280.00
10/25/2020	Non-contract (Operat	Collection & Pumping	-WO 271018293 Went to plant for high water alarm. Found one pump barely pumping. Determined fault was lose wire. Tightened wire up and both pumps began pumping fully	1	713.00170.00	70.00
10/25/2020	Non-contract (Operat	Collection & Pumping	-WO 271009755 Answered mission alert for high water. Wire had shaken loose in box preventing a pump from properly functioning. Tightened wire and restored power to both pumps ZW	2	70.00 713.001	140.00
	*Reimb Group		37A		107.001	
9/30/2020		Treatment & Disposal	-Derby City Environmental Invoice 24		2,765.00	2,765.00
10/31/2020		Treatment & Disposal	-Central Bank Credit Card Charges-Supplies Total Reimbursable Expenses		704 1,423.72	1,423.72 4,188.72
		APPROV	ED			
		By JayFave	or at 9:23 am, Dec 17, 2020			
	1	1	Total	1	<u> </u>	\$5,308.72

3336 Kramers Lane Louisville, KY 40216 US 502-447-3000 kdempster@derbycityenvironmental.com

## INVOICE



INVOICE # 2437A DATE 09/30/2020 DUE DATE 10/30/2020 TERMS Net 30

BILL TO Midwest Water Ops 1351 Jefferson Street Ste 301 Washington, Missouri 63090 United States SHIP TO Midwest Water Ops 3722 Hayfield Way Prospect, KY 40059

### PLEASE DETACH TOP PORTION AND RETURN WITH YOUR PAYMENT.

### CUSTOMER NO 5357

DATE	ACTIVITY	DESCRIPTION	QTY	AMOUNT
09/30/2020	Vactor	Vactor Truck Hourly Fee	3	1,200.00
09/30/2020	Vactor Disposal	Disposal of Material Pumped by Vactor	4,000	1,040.00
09/30/2020	Vactor Labor	Extra Labor for Vactor Truck Service	3	525.00
••••••				

BALANCE DUE

\$2,765.00
Maryla	nd Biog	chemical C	ompa	ny, Inc.			In	voice
712 Tobaco		ive				D	ate	Invoice #
Bel Air, M (800) 771-		0) 734-9100			S. 199	10/13	/2020 10	NN1054
(410) 734-9				A AN	20	A Partie	The second	
Bill To				10:21/20	Ship To		2.12.13.13.13.13.13.13.13.13.13.13.13.13.13.	
Contraction of the		ations LLC	in the	3	Kathy Carey 734 Shelbyville I Shelbyville, KY 4			
Washington	1, MO 63	090						
P.O. Numb	er	Terms	Rep	Ship Date	Via	F.O.	B.	
athy Carey	P	AID BY MC	KG	10/13/2020	Next Day Air	Salem,	VA	
Quantity 20		Item Code	1 - 8-	and the second se	escription tion - per pound.		Unit Price 59.95	Amount 1,199.00
			1	nvoice please	prefer an E-mai send a messag indbiochemical	e to		
		rder					1 \$	1,423.72



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## APPROVED

By Jake Freeman at 7:56 am, Dec 18, 2020

Date	Invoice #	
1/25/2020	01665	

Invoice

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>107.001</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

1

#### Project

KY-Center Ridge-Timberland Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/1/2020	Capital Project	General Plant WW	WO 207906793 Grading ground preparation, berm projectWMB	3	75.00	225.00
10/3/2020	Capital Project	General Plant WW	WO 270906783 Ground preparation for seeding, seeding and strawing, berm project WMB	11	75.00	825.00
10/4/2020	Capital Project	General Plant WW	WO 270906783 Finish seeding and strawing, berm project -WMB	3	75.00	225.00
10/6/2020	Capital Project	General Plant WW	WO 270906783 Finished strawing grounds.WMB	3	75.00	225.00
10/7/2020 10/21/2020	Capital Project Capital Project	General Plant WW Collection & Pumping	Oversight and planning of capital projects CC WO 271007764 Replacement of pump	1.75	75.00 75.00	131.25 150.00
10/21/2020	Capital Project	Collection & Pumping	WO 271007764 Liftstation pump replacement. -SZR	3	75.00	225.00
	Vehicle Use *Reimb Group	General Plant WW	Vehicle Use of \$35 per day	6	35.00	210.00
8/30/2020		General Plant WW	Blair Beyer Invoice 4923		8,472.53	8,472.53
9/28/2020		General Plant WW	Blair Beyer Invoice 4944		4,069.72	4,069.72
10/31/2020		Treatment & Disposal	Central Bank Credit Card Charges-Capital Improvements, Construction Materials		734.04	734.04
			Total Reimbursable Expenses			13,276.29
			Markup		5.00%	663.81
			Total Reimbursable Expenses			13,940.10
			Total			\$16,156.35

Blair Beyer 1992 Wice Church Rd. Boaz, KY 42027 blairbeyertrucking@gmail.com

## INVOICE

## **BILL TO**

Midwest Water Op 1351 Jefferson Street Suite 301 Washington MO 63090

## INVOICE # 4923 DATE 08/30/2020

ACTIVITY	QTY	RATE	AMOUNT	
8 Black 8 Black Ticket #89654 8/18/2020 24.23 ton	1	422.53	422.53	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/18/2020	4	230.00	920.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/19/2020	2	230.00	460.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/20/2020	5	230.00	1,150.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/21/2020	3	230.00	690.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/25/2020	6	230.00	1,380.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 8/26/2020	3	230.00	690.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 9/8/2020	9	230.00	2,070.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 9/9/2020	2	230.00	460.00	
<b>Clay Fill Dirt</b> Clay Fill Dirt 9/11/2020	1	230.00	230.00	
Po Timberland WWTP-New	BALANCE DUE		\$8,472.53	

Blair Beyer 1992 Wice Church Rd. Boaz, KY 42027 blairbeyertrucking@gmail.com

## INVOICE

## **BILL TO**

Midwest Water Op 1351 Jefferson Street Suite 301 Washington MO 63090

## INVOICE # 4944 DATE 09/28/2020

ACTIVITY	QTY	RATE	AMOUNT
<b>3's</b> 3 in rock Ticket #90644 9/18/2020 23.86 ton	1	412.03	412.03
<b>3's</b> 3 in rock Ticket #90641 9/18/2020 24.46 ton	1	418.85	418.85
<b>3's</b> 3 in rock Ticket #90639 9/18/2020 24.05 ton	1	414.18	414.18
<b>3's</b> 3 in rock Ticket #90635 9/18/2020 25.62 ton	1	432.10	432.10
<b>3's</b> 3 in rock Ticket #90674 9/21/2020 21.39 ton	1	383.86	383.86
<b>3's</b> 3 in rock Ticket #90684 9/21/2020 25.42 ton	1	429.79	429.79
<b>3's</b> 3 in rock Ticket #90677 9/21/2020 21.80 ton	1	388.53	388.53
<b>3's</b> 3 in rock Ticket #90671 9/21/2020 21.04 ton	1	390.12	390.12
<b>Den. Gr. Aggr.</b> Dense Grade Ticket #90888 9/28/2020 24.60 ton	1	400.77	400.77
<b>Den. Gr. Aggr.</b> Dense Grade Ticket #90882 9/28/2020 24.48 ton	1	399.49	399.49
Po; timberland WWTP-New	BALANCE DUE		\$4,069.72







Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1203



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## 705=\$164.37 712=\$210

713.001= \$478.04

Date	Invoice #
11/25/2020	01666

Invoice

DATE RCVD<sup>12/03/20</sup> GL CODE See Below PRCD BY Krista GL DATE 11/1/20

Project

KY-Center Ridge-Timberland Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/19/2020	Non-contract (Operat	Collection & Pumping	-WO 271002040 Pull and clean lift station pump. TT	5	713.00170.00	350.00
10/20/2020	Non-contract (Operat	Collection & Pumping	-WO 27002060 Called by homeowner for sewage coming out of manhole. Found breaker tripped out. Pumped down lift station. TT	3	70.00 712	210.00
10/23/2020	Non-contract (Operat	Collection & Pumping	-WO 271007769 High water alarm, repair main pumpSZR	1.25	70.00 713.001	87.50
10/31/2020		Treatment & Disposal	-Central Bank Credit Card Charges-Supplies		<b>705</b> 164.37	164.37
10/31/2020		Collection & Pumping	-Central Bank Credit Card Charges-Repairs/Maintenance		713.00140.54	40.54
		APPROVED By JayFavor a	t 9:23 am, Dec 17, 2020			
	1	1	Total	<u> </u>		\$852.41



P.O. Box 2	350 · 5110 C aducah, KY (270) 443-24	Charter Oak Dr. 42001	E	110 CHARTER OAK DR. DUCAH, KENTUCKY 4200	a second	SHIPMENT 14869	T NUMBE	R
CRECAR BILL TO: CREDIT CARI	D ACCOUNT		SHIP TO:		KY	42001		
CUSTOMER P.O.NO. MIDWE	ST WATER		CUSTO	OMER P.O.NO. MIDWEST			DATE	
SHIPMENT NUMBER	SLSMN	ORDER DATE		MIDWEST WATE		10	0/22/2	120032333333
1486906-0001-01	149	10/22/20	331			FRT.	PAGE	NO.
		INSTRUCTIONS		TODAV		P		1
TODD/CAT			CALL -		UM	UNIT PRICI	E	AMO
ORDERED B.O./RET. SHIPP	DISP.	ITEM CO ( 1) EES Al (	DE AND DESC	RIPTION	PL	155.0'	<u> ana ana ana ana ana ana ana ana ana an</u>	1



.0C1

CODE EXPLANATION \* - STATE TAX APPLICABLE # - FED./OTHER TAX APPLICABLE + - STATE & FEDERAL TAX B - BALANCE BACK ORDERED C - CONSIDER COMPLETE D - DIRECT SHIPMENT F - FACTORY MINIMUM

FREIGHT IN FREIGHT OUT

\*\*SHIP ORDER\*\*\*\*SHIP ORDER\*\*\*\*

CUSTOMER COPY

\*\*\* ORDER COMPLETED \*\*\*

OVER, SHORT, AND DAMAGED REPORTS MUST BE MADE TO US WITHIN 10 DAYS OF SHIPMENT. NO RETURNS ACCEPTED WITHOUT WRITTEN PERMISSION. RETURN GOODS CHARGE ON STOCK ITEMS IS 15%.

155.07 SUB TOTAL MISC. CHARGE. FREIGHT TOTAL 0.00 FED./OTHER TAX 9.30 STATE TAX 0.001 PAYMENT REC'D. TOTAL AMOUNT DUE 164.37

FEL-PADUC 5119 HEAR PADUCAH, PH: 27D-5 ORDER NO.	TLAND DRIVE VY 42001-0490 75-0055 FAX: 270-51 REQUIRED DATE SHIP WHS. SEU	2-9933	C. C					ACCEPT B/0 EHOMROOM SOURCE = SO IB FRT = N OR SHP = N 21 OCT 2020 WHITER T LED	= N IE 0,00 0.00
CP881565 CUSTOMER NO.   CUST	10/21/20 490 OMER ALPHA   CONTRACT NO.	490 BID NO. ORDER DAT		ALCONT THE REAL	RUCTIONS			OML CONTACT	
and the second second second second	WEST	18/21/	and the second se	A TOPAT AN OF				Luther Dees	3
S MIDWEST WATE	0 00 11 0	COUNTED DEC	er uns	15000 - 051				VENDOR	
0 1351 JEFFERS	ON ST	S COUNTER PIC H 5119 HEARTL PADUCAH, KY						VENDOR P.O. NO	-
		P LENG CONTRACTOR		SHIP		100000		ROUTE NO.	RUN NO. DEPART TIME
o		and a state of the		01	BAGS BOXES			ROUTE DESC.	
CUST PH: 270		Intella Mill Suffrid man			0000	U	Central Contractor	HOULE DEDU.	
CUSTOMER PO. NO.	JOB NAME	ATTN	the second strategy and		WT. SHIP	DATE	DELIVERED BY	PACKED BY	CHECKED BY
LINE ORDER OTY. SHI		M CODE	DESCRIPTION	The second second	UNIT PRICE	U/M	TOTAL	P.O. NO.	AISLE LOC
1 1	1 PBOSMAK	2 PVC SE	O SXM ADPT	-124 - 142 J	14.850	EA	14.85		X29-D4
2 1	1 11598	1-1/4 K	K MI 150# ST 90 E		9.310	ED	1 21	0.3 10	
	- Rain att	+ + + + +	C THE ESON OF SU E	tale of any other	0-040	E.H	8.31	0.8 10	X33-C4
3 1	I IBRCKH	2X1-1/6	BLK MI 150# RED C	OUP	12.161	EA	12.16	17 4 W 4.0	X34-A5
4	I TRNHCL		DE BLK STL NIP		5 - The	-	100 million (100 m	1.1.10	
+ +	1 LDINITOL	1-1/4/010	JOE BER SIL NIP	a manager	2.924	ER	2.92		X34-B.
			a second designed as a s		10		10.0 M 10 M 10 M	U.Z 15	1 1
		THE AND CRATERING		AL WEIGHT OF	ORDER:	2.4	20 105		-
	PAID 40.54	BY MasterCard CC# )	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	ON 10/21/20		1 miles		-	
		TALL OF BRIDE PARTY AND	Ant- Zimmer						-
		the section with the section of the	STATES DE LA COMPANY	and the second division of	1				-
	13 A	The Louis Contract of the	or permiting and	The Deliver of the local division of the loc	and the second		200		-
	A STATEMENT OF	College and the second second	TE amana aprile all	The pass, series	Let a contract the		-	1	
	Dempirica a	the discovery for rot total	THE TROUP PARTY	A TOWNED TO	1.11		1.15		
	2 10 July	102 02 02 04 04 04	H LTA			A PROPERTY	200		
		States of the local division of the	A STREET OF TAXABLE	P State of the	March 1997	Contraction of the	1010	-	
NO RETURNS ALLOWED WIT SUBJECT TO HANDLING CHARGE	HOUT PROPER AUTHORIZATION. RET	URNED MATERIALS SUBTOTAL		TBOUND TAX	LESS		TOTAL DUE	-	
SEE REVERSE SIDE FOR IMPOF	o. Tant terms and conditions of sal	E AND LIMITATIONS	FREIGHT SI	10 PING	DEPOS	Conception in the			
OF WARRANTY.		30	ara nam	0.00 2	2.30	0.00	40.50	+	
CUSTOMER'S				TERM	S: CASH ON	DEMAND	0	ACONTINUED	1.00
SIGNATURE:	-	DATE:	CUSTOMER					- Contractor	



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## **APPROVED**

By Jake Freeman at 7:56 am, Dec 18, 2020

	 VUICC
Date	Invoice #

Invoico

11/25/2020 **01667** 

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>105.001</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

#### Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/1/2020	Capital Project	General Plant W	WO 270934443 Worked on well house electric and insulation.	2	75.00	150.00
10/1/2020	Capital Project	General Plant W	WO270934443 Install insulation in well house #1, clean and paint water tank. TT	11	75.00	825.00
10/2/2020	Capital Project	General Plant W	WO270934447 Electrical work	1.5	75.00	112.50
10/7/2020	Capital Project	General Plant W	Oversight and planning of capital projects CC	2	75.00	150.00
10/15/2020	Capital Project	Source of Supply W	WO 270962729 Installed new meter and started new pipes	7	75.00	525.00
10/15/2020	Capital Project	Source of Supply W	WO 270962729 Install new water meter and replace schedule 40 pipe with schedule 80 pipe. TT	8	75.00	600.00
10/16/2020	Capital Project	Source of Supply W	WO 270962729 New meter and new pipes installed in well house	10	75.00	750.00
10/16/2020	Capital Project	Source of Supply W	WO 270962729 Install new water meter and replace schedule 40 with schedule 80 pipe. TT	10	75.00	750.00
	Vehicle Use	General Plant W	Vehicle Use of \$35 per day	5	35.00	175.00
	*Reimb Group					
10/3/2020	<u>^</u>	General Plant W	Air-Tite Insulation Invoice 11819		996.50	996.50
10/31/2020		Source of Supply W	Central Bank Credit Card Charges-Capital Improvements, Construction Materials		1,284.51	1,284.51
10/31/2020		Transmission & Distri	Central Bank Credit Card Charges-Capital Improvements, Travel Expenses		76.80	76.80
			Total Reimbursable Expenses			2,357.81
			Markup		5.00%	117.89
			Total Reimbursable Expenses			2,475.70
			Total			\$6,513.20



6001 Benton Rd Paducah, KY 42003 (270) 898-4655 airtiteinsulationIIc@yahoo.com http://www.airtiteIIc.com





INVOICE # 11819 DATE 10/03/2020 DUE DATE 10/03/2020

BILL TO Midwest Water Operations 1351 Jefferson Street Suite 301 Washington, MO 63090

3% SERVICE CHARGE ON ALL CREDIT CARD PAYMENTS.

SHIP TO Midwest Water Operations 1351 Jefferson Street Suite 301 Washington, MO 63090

PLEASE DETACH TOP PORTION AND RETURN WITH YOUR PAYMENT.

## JOB NAME

WELL HOUSE

	QTY	RATE	AMOUNT
CLOSED CELL POLYURETHANE FOAM SPRAYED POLYURETHANE CLOSED CELL FOAM INSULATION ON ROOF LINES OF WELL HOUSE LOCATED AT WHISPER DRIVE WEST IN MURRAY, KY	1	996.50	996.50
Thank you for your business! BALAI Mark Martin - mark@airtitellc.com Jeff Crass - jeff@airtitellc.com \$50 Service Charge on returned checks	NCE DUE		\$996.50

	10343 90L0 TO		ROI Co	RETU 2% ADD Pita 1 SHOP TO:	DITIONAL CHAR	Well N	BY RECEIP UE ACCOUNTS IET 10TH	CLER K	EITH	DATE / TIME 10/13/20	12 22
	MIDWEST W	ATER OPERATION	ISILC	FREDDIE O	BRYAN		PERSON KH	KEITH HOL	RMINAL: 555		
LINI		ORDERED UM	SKU				IN	IVOI	CE: AO	1113	
2	20	20 FT 6 EA	3227543 3407483	DP U/S	DESCRIPTIC WHL PS200EH-10	CALLS NO.	SUGG 3.39	UNITS	PRICE PER		
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19	823411272111112224	2 EA 3 EA 4 EA 1 EA 2 EA 4 2 EA 4 1 EA 1 EA 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7509 398814 3943 011995 449 70078 30271 07968	2" THRD 2" UNIO 2" MA 3: 3/4" X1/2" 3/4" THR 3/4" MA 3 1/2" × 260 TRU BLU PT PURP PT RAIN/ PRESSUI 5/16/3 TC BOLT U 3	HING 1/2X1/4 PT "BR HEX BUSH DD PVC BALL VLV SCH80 "TEFLON TAPE PIPESEALANT LE PRIMER	C QB/100 E PBVT32 110A-DB NG E PBVT12 WH 402 50 PSI TEEL QB/25	2.05 3.59 7.49 9.99	20 6 8 2 3 4 1 1 2 7 2 1 1 1 1 1 2 2 2 4	2.71 (FT 1.64 //EA 0.16 //EA 14.99 //EA 14.99 //EA 14.49 //EA 3.36 //EA 4.19 //EA 7.29 //EA 10.79 //EA 2.49 //EA 2.49 //EA 2.49 //EA 7.59 //EA	1: 29: 44 57: 3:	84 28 98 97 96 46 22 * 38 73 829 99 99 99 99 99 99 99 99 99 838 838
					PAID IN FULL		372.55	N	AXABLE ON-TAXABLE JBTOTAL	351 0 351	.00
				BANK	CARD PAYME			T	X AMOUNT	21	.09
WT: 5	1 38				BKCRD# XXX	XXXXXXXXXX	37:	2.55 T	OTAL	372.	55
***0621	1		4	PP 020476	XR: 0011	13	Xe	Inl	Received B	31-	

			-	INC.	MURRAY M RETURN 2% ADDIT	JPPLY CO, WH (RENTAL AND 206 E MAII JURRAY, KY 42 PHONE: (270) S MUST BE ACCOM IONAL CHARGE ON	SALES ( N ST 2071-2184 753-3361 PANIED BY RE PAST DUE AC				PAGE NC	11
	0343		CROI		PO # CR01		TERMS NET 10		CLERK	UCK	DATE / TIME-	0-2R
	NUD TO: MIDWEST W ***CASH AC	ATER OPERA	TION	SUC	SHIP TO: FREDDIE OBR	RYAN /	SALESPERSO	E 11/10/20 CB CHU 001 KY		MINAL: 558		
								INV	010	E: X4	0394	ļ.
LINE	SHIPPED 10	ORDERED 10		SKU 3237690		DESCRIPTION	SUC	G UN	ITS	PRICE/ PE	REXTENS	ON
234557	10 1 2 10 10 10	10 10 1 2 10 10	EA EA EA EA	3237690 40755 40899N001 4509345 30398N025 0190159 0270061	2" 90 SCH 1/6" VENT 2" BRAS ( 3/8" S SPF #2 USS H	WINL PS500EH-10 GLV 180 I VALVE FV4M1 CHCK VL MD 6300 63 RING NUT PSSS3/8E C SCREW 3/83/4 QE SHER 3/8" ZINC QB/1	16954 G 3/100	1.99	10 10 1 2 10 10 10	1.59 /FT 6.49 /EA 29.99 /EA 104.99 /EA 1.14 /EA 0.30 /EA 0.16 /EA	16 64 205 11	90 99 99 98 40 800 60
	-											
						* PAID IN FULL **		356.98	N	AXABLE ON-TAXABLI JBTOTAL	E	6.77 0.00 6.77
TWT	<b>56.00</b> 322				BANK APP 096533	CARD PAYMENT BKCRD# XXXXXX XR: 040394	XXXXX4282	356.98 XJ	T		350	8.98
V	1			114	1993	J.B	1				-	

BULD TO MICOVERST WATER OPERATIONS LLC **CASH ACCOUNT*** MENDINE SHIPPED ORDERED UM SKU DESCRIPTION SUGG UNITS PRICE/ PER EXTER 1 2 2 2 EA 40860 2' CPL SCH80 192 0084 /EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 192 11226 (EA 1 1 EA 43115 2 FA SCH80 192 192 192 192 192 192 192 192 192 192	NSION 13 58 1 37 1 73 3 60 7 49 7 29 4 89
LINE         SHIPPED         ORDERED         UM         SKU         DESCRIPTION         SUGG         UNITS         PRICE/         PER <exten< th="">           1         2         2         EA         40660         2" CPL SCH80         2         6.79         /EA           2         2         2         EA         43160         2" CAP DWV         90         2         0.684         /EA           3         1         1         EA         43115         2         FA SCH40         1.92         1         128         /EA           4         1         1         EA         46606         MALE BOILER DRAIN 3/4"CBDSB12         1         3.60         /EA           5         1         1         EA         744928         EPOXY CLEAR 25ML SYRINGE WICAP         1         7.29         /EA           6         1         1         EA         744928         EPOXY CLEAR 25ML SYRINGE WICAP         1         7.29         /EA           7         1         EA         124568         LIOUID NAIL SYRINGE WICAP         1         7.29         /EA           8         6         6         EA         0372150         WEDGE BOLT 1/4 X 1-1/4         6         0.55         /</exten<>	NSION 13.58 1.37 1.73 3.60 7.49 7.29 4.89
1         2         2         EA         40860         2" CPL SCH80         2         6.79         /EA           2         2         EA         43160         2" CAP DWV         .90         2         0.684         //EA           3         1         1         EA         43115         2         FA SCH40         1.92         1         1.728         //EA           4         1         1         EA         40923         3/4" FA SCH60         1         1.92         1         3.80         //EA           5         1         1         EA         46606         MALE BOILER DRAIN 3/4"CBDSB12         1         7.49         //EA           6         1         1         EA         740928         EPOXY CLEAR 25ML SYRINGE WICAP         1         7.29         //EA           7         1         EA         1.0UID NAL FOR TUBE & SHOWERS         1         4.89         //EA           8         6         6         EA         0.372150         WEDGE BOLT 1/4 X 1-1/4         6         0.55         //EA	13.58 1.37 1.73 3.60 7.49 7.29 4.89
	3.30 88
** PAID IN FULL ** 46.78 TAXABLE	44.1

LOWE'S LOWE'S HOME CENTERS, LLC 1400 LOWE'S DRIVE MURRAY, KY 42071 (270) 753-9099 - SALE -SALES#: S0722SE1 3049225 TRANS#: 65114190 10-19-20 1627014 I/O BOX OF CLOTH LIKE RAG 14.98 13.98 2146973 KOBALT 1 1/4IN PUC CUTTER 1051263 BSH LBHX 1/2-IN X 6-IN (-9.48 14.98 300304 SKIL 14-PC ROTARY DRILL B 48285 GE SIL II KB CLEAR 10.10Z 6.78 65267 10 YD 180-GRIT MESH CLOTH 11.97 9.78 455441 10.5-FL OZ SASHCO LEXEL E 51691 3/4-IN SCH80 SXF ADAPTER 8.67 2.89 30 456833 PTFE TAPE 1/2-IN X 43-FT 5.94 30 1.98 59168 BH HWH SDS NEO 12-14X3/4 5.98 23495 24-FT AUTO ELCT HEATCBLE 151.92 37.98 40 4485 14-IN X 19-IN X 6-IN VALU 107.40 5 0 21.48 239931 2-FT YARD HYDRANT 50.00 411.86 SUBTOTAL: 24.71 TAX: 436.57 INVOICE 11063 TOTAL: 436.57 M/C: H/C: XXXXXXXXXXXX4282 AMOUNT:436.57 AUTHCD: 010699

Split - \$377.31 District 1 Remaining \$59.26 not billable

RIFFIN, ANDR 744 HWY DD ANNIBAL MO NITED STATE		name address	room number artival date departure date adult/child room rate:	305/KXTD 10/5/2020 4:00:00 PM 10/6/2020 6:55:00 AM 1/0 69:00 1/28	If the debtornels care you are care of rectands is attached to a bank or clearing from care, a loss will be planed on the accuse to the lat anticate charmon to be average to the tool, including contrared indexing through not den to the and such taraw will not be relaxed of 27 beams and such taraw will not be relaxed of a roops and house from the date of chards and an origone to the discretion of your francal iteration.
Confirmation N 10/6/2020	lumber: 80140	347	to pay for any part of the full	T275484630 SILVER les, occupancy, or other taxes. Please tery deposit bax is available for you in th dispersivally bable in the event that the amount of these charges. A fee of up is front Deak for locations of designated ou	to 250 USD will be association fails
date	reference	descripti	on	amount	0
10/5/2020 10/5/2020 10/5/2020 10/5/2020 10/6/2020	635716 635716 635716 635716 635748	GUEST ROOM RM - KENTUCKY SALES TAX RM - MURRAY OCCUPANCY TAX RM - KENTUCKY TRANSIENT TAX MC *6084 **BALANCE**		\$69.00 \$4.35 \$2.76 \$0.69 (\$76.80) \$0.00	
	in 113 countrie	e posted within 72 hours of checkout. Is, please visit Honors.com CONRAD COROPI CONRAD COROPI CONRAD COROPI	Hilton Cl	RIO MANUATA PAR	nan 5,700 hotels
	in 113 countrie	es, please visit Honors.com	Hilton Cl	RIO MANUATA PAR	ESTPY Notice
and resorts	s in 113 countrie	es, please visit Honors.com		RIO ENDERICA PAR	ESTPY Notice
and resorts	vations call <b>1.8</b>	es, please visit Honors.com	mpton.com	RIO ENTRY AND	B37P1 Serves
and resorts for reser account n	vations call <b>1.8</b>	es, please visit Honors.com	mpton.com	ARE Folio/check no. 209885 A	B37P1 Serves
for reser account n MC *608	vations call <b>1.8</b>	es, please visit Honors.com	mpton.com	Arrage folio/check no. 20985 A	B37P1 Serves
for reser account n MC *608 card mem GRIFFIN	vations call <b>1.8</b> to. 4 her name , ANDREW	es, please visit Honors.com	mpton.com	ARE Folio/check no. 209885 A	B37P1 Serves
for resert account n MC *608 card mem GRIFFIN	vations call <b>1.8</b> io.	es, please visit Honors.com	Million Class Million Class Millio	Arrow Policy Check no. 209885 A toon initial is services	B37P1 Serves
for resert account n MC *608 card mem GRIFFIN	vations call <b>1.8</b> to. 4 her name , ANDREW	es, please visit Honors.com	mpton.com date of ct authoriza oskalt4 holder for payment purchase	Arrow Policy Check no. 209885 A toon initial is services	B37P1 Serves



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

	Date	Invoice #
	11/25/2020	01668
DATE RCVD <sup>12/03/2</sup>		See Below
PRCD BY Krista	_ GL DATE	11/1/20

105.001= \$ 280 620.6= \$ 86.81 635.3=\$ 100

Project

KY-Center Ridge Water District 1

Invoice

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/27/2020 10/27/2020	Non-contract (Operat Non-contract (Operat	Services,Meters&Fire Services,Meters&Fire	-WO 271018836 Repair water me -WO 271018836 Replace broken boxes. TT		2 105.001 70.00 2 105.001 70.00	140.00 140.00
7/7/2020		Water Treatment & Pu Water Treatment & Pu ROVED Favor at 9:24 a	-Pace Analytical Invoice 2013958- -Central Bank Credit Card Charge Total Reimbursable Expenses		635.3 100.00 620.6 86.81	100.00 86.81 186.81
				Total		\$466.81



СС

INVOICE

Invoice To:					Page 1 of
Midwest Water Operations Ronald Burklow 1351 Jefferson St Suite 301 Washington, MO 63090			Invoice Number: Customer ID:	2013958-44 44-102326	ŀ
			Invoice Date: Invoice Due:	07/07/2020 08/06/2020	
Sample ID: 0063833-01 Sample Da Sample Desc: BACT Center Ridge W	te: 06/30/2020 08:30 /ater	Project:	BACT		
<u>Analysis</u> Total Coliform STATE Pad					<u>Amount</u> \$19.40
		Tot	al for Sample 0063833-0	01	\$19.40
		Tota	l for Work Order 00638	33	\$19.40
Additional Items					
Description	Quantity	Price			Item Total
Minimum Invoice Charge (100)	1	\$80.60			\$80.60
			Pay this amo	unt	\$100.00

analytical results. If you have any questions concerning this invoice, please contact us at 270-821-73 5.

Please submit this	stub with payment	Questic	ons or pay by p	hone call (27	70)-584-3030		
Customer ID:	44-102326	Invoice:	2013958	Date:	07/07/2020	Invoice Amount:	\$100.00
				<b>REMIT T</b> Analytical Servi P.O. Box 6840 hicago, IL 60695	ices, LLC 156		

Terms - Net 30 Days

語品			
	Lowe's	S	
	LOWE'S HOME CENTERS, LLC 1400 LOWE'S DRIVE MURRAY, KY 42071 (270) 753-9		
T	- SALE - SALES#: S0722DD3 2635281 TRANS#: 66641		井
	224272 42-GAL 24-CT 3ML CONTR CH		and the second
AL PROPERTY	666405 MULTI-PURPOSE HAND PUMP		man and
termile and the second	1514042 32 GALLON BLUE RECYCLE TR	35.94	THE T
	2 0 17.97	and the second	
			-
- Total State	SUBTOTAL:	81.90	
A COLUMN TWO IS NOT	TAX:	4.91	the second second
	INVOICE 13336 TOTAL:	86.81	
	M/C:	86.81	
			the state of the
REAL F	M/C: XXXXXXXXXXXX4282 AMOUNT:86.81 AU CHIP REFID:072213313960 10/02/20		1- mm
	CUSTOMER CODE: cr01supply		and the second
	APL: Mastercard TVR: 00000	Sheep, .	-
A DECEMBER OF	AID: A000000041010 TSI: 1		
	STORE: 722 TERMINAL: 13 10/0		a line
	# OF ITEMS PURCHASE		itti
and the second s	EXCLUDES FEES, SERVICES AND SPECIAL	UNDER TIENS	
LE	THE REAL PROPERTY AND A REAL PROPERTY AND A	and the factor of the	-
and and and			THE

t.

「二」

1445

T

C

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1217



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

# Date Invoice #

11/30/2020 01669

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>105.001</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

## APPROVED

By Jake Freeman at 7:56 am, Dec 18, 2020

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/2/2020	Capital Project	Water Treatment & Pu	WO 270936764 Chlorine containment FO	1	75.00	75.00
10/2/2020	Capital Project	General Plant W	WO 270856149 Driveway repair TT	2	75.00	150.00
10/2/2020	Capital Project	Water Treatment & Pu	WO 270936764 Add containment containers to	10	75.00	750.00
			chlorine feed system. TT			
10/7/2020	Capital Project	General Plant W	Oversight and planning of capital projects CC	1	75.00	75.00
10/14/2020	Capital Project	General Plant W	WO 270966217 Pressure wash and prep well	10	75.00	750.00
			house buildings for painting. TT			
10/15/2020	Capital Project	General Plant W	WO 270966217 Finish prepping buildings,	5	75.00	375.00
			start painting. TT			
	Vehicle Use	General Plant W	Vehicle Use of \$35 per day	4	35.00	140.00
	*Reimb Group					
10/31/2020	<u>^</u>	General Plant W	Central Bank Credit Card Charges-Capital		135.95	135.95
			Improvements, Construction Materials			
			Total Reimbursable Expenses			135.95
			Markup		5.00%	6.80
			Total Reimbursable Expenses			142.75
		•	Total			\$2,457.75

We strive for a 10! We hope that you will take the survey and give us a 10!

LOWE'S HOME CENTERS, LLC 1400 LOWE'S DRIVE MURRAY, KY 42071 (270) 753-9099

B/V-NILTIANY - FERSONAL USE SALE -SALESSI 3072244 3049225 TRANSS: 65768441 10-15-20 13617 GREAT STUFF 12-FL 02 00P/ 12.92 3.59 DISCOUNT EACH 4 0 3.23 -0.36 324849 WARNER SHOE HANDLE WIRE B 4.84 5.38 DISCOUNT EACH -0.54 1173050 .7 HIL 9X12 DC VALUE 5-PA 4.50 5.00 DISCOUNT EACH -0.50 1643419 VALSPAR 6-PC KIT 12.58 13.98 DISCOUNT EACH -1.40 10.65 1597628 JASCO GREEN PAINT THINNER -1.18 11.83 DISCOUNT EACH 636317 118-FL DZ WEATHERSHIELD S 41.38 45.98 DISCOUNT EACH -4.60 636317 118-FL OZ WEATHERSHIELD S 41.38 45.98 DISCOUNT EACH -4.60

Tł	ANK	YO	U FOR	YOUR
TOTAL	DIS	cou	NT:	14.2
			M/C:	135.95
	INVOICE	11181	TOTAL:	135.95
			TAX:	7.70
		S	UBTOTAL :	128.25



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## Invoice

Date	Invoice #
11/30/2020	01670

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>See Below</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

635.3 =\$100 636.6= \$ 210

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/6/2020	Non-contract (Operat	Services, Meters&Fire	-WO 270848478 Service line repair on Musse Ln AG	1 3	636.6 70.00	210.00
7/7/2020		Water Treatment & Pu	-Pace Analytical Invoice 2013960-44		635.3 100.00	100.00
		<b>PPROVED</b> By JayFavor at 9	:24 am, Dec 17, 2020			
	•	·	Tota			\$310.00



СС

INVOICE

Invoice To:					Page 1 o
Midwest Water Operations Ronald Burklow			Invoice Number:	2013960-44	1
1351 Jefferson St Suite 301			Customer ID:	44-102326	•
Washington, MO 63090			Invoice Date:	07/07/2020	
			Invoice Due:	08/06/2020	
Sample ID: 0063828-01 Sample Date Sample Desc: BACT Center Ridge #2		Project:	BACT		
<u>Analysis</u> Total Coliform STATE Pad					<u>Amount</u> \$19.40
		Tot	al for Sample 0063828-0	)1	\$19.40
		Tota	l for Work Order 00638	28	\$19.40
Additional Items					
Description	Quantity	Price			Item Total
Minimum Invoice Charge (100)	1	\$80.60			\$80.60
			Pay this amo	unt	\$100.00

analytical results. If you have any questions concerning this invoice, please contact us at 270-821-73 5.

Please submit this stub with payment		Questions or pay by phone call (270)-584-3030			70)-584-3030		
Customer ID:	44-102326	Invoice:	2013960	Date:	07/07/2020	Invoice Amount:	\$100.00
				<b>REMIT T</b> te Analytical Servi P.O. Box 6840 Chicago, IL 60695	ices, LLC 556		

Terms - Net 30 Days



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## **APPROVED**

By Jake Freeman at 7:57 am, Dec 18, 2020

I	nvoice

Date	Invoice #
11/25/2020	01671

DATE RCVD <sup>12/03/20</sup> GL CODE <sup>105.001</sup>					
PRCD BY Krista					

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/7/2020 10/21/2020	Capital Project Capital Project	General Plant W General Plant W	Oversight and planning of capital projects CC WO 2701003329 Installed new electrical wires and receptacle outlet	1.5 1	75.00 75.00	112.50 75.00
	Vehicle Use		and receptacle outlet Vehicle Use of \$35 per day	2	35.00	70.00
			Total			\$257.50



1351 Jefferson Street, Suite 301 Washington, MO 63090

### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

L	nvoice
	Invision #

 Date
 Invoice #

 11/30/2020
 01672

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>See Below</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/6/2020 7/7/2020	Non-contract (Operat	Transmission & Distri	-WO 271104021 Leak detection AG -Pace Analytical Invoice 2013959-44	3	636.6 70.00 635.3 100.00	210.00 100.00
		APPROV By JayFav	<b>ED</b> or at 9:24 am, Dec 17, 2020			
			Tota			\$310.00



СС

INVOICE

Invoice To:					Page 1
Midwest Water Operations Ronald Burklow			Invoice Number:	2013959-44	
1351 Jefferson St Suite 301			Customer ID:	44-102326	
Washington, MO 63090			Invoice Date:	07/07/2020	
			Invoice Due:	08/06/2020	
Sample ID: 0063830-01 Sample Date Sample Desc: BACT Center Ridge #3	e: 06/30/2020 07:30	Project:	BACT		
<u>Analysis</u> Total Coliform STATE Pad					<u>Amount</u> \$19.40
		Tot	al for Sample 0063830-(	01	\$19.40
		Tota	l for Work Order 00638	30	\$19.40
Additional Items					
Description	Quantity	Price		-	Item Total
Minimum Invoice Charge (100)	1	\$80.60			\$80.60
			Pay this amo	unt	\$100.00

analytical results. If you have any questions concerning this invoice, please contact us at 270-821-7375.

Please submit this stub with payment		Questions or pay by phone call (270)-584-3030			70)-584-3030		
Customer ID:	44-102326	Invoice:	2013959	Date:	07/07/2020	Invoice Amount:	\$100.00
<b>REMIT TO:</b> Pace Analytical Services, LLC P.O. Box 684056 Chicago, IL 60695-4056							

Terms - Net 30 Days



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

**APPROVED** 

By Jake Freeman at 7:57 am, Dec 18, 2020

## Invoice

Date	Invoice #
11/30/2020	01673



#### Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/2/2020	Capital Project	Water Treatment & Pu	WO 270936756 Chlorine containment FO	1	75.00	75.00
10/5/2020	Capital Project	Water Treatment & Pu	WO 270944613 Installed new piping in well	5	75.00	375.00
			house to reduce aeration of water in storage			
			tank. AG			
10/5/2020	Capital Project	Source of Supply W	WO 270944613 New water line installed in	5.5	75.00	412.50
10/7/2020	Control Destant	Constant Direct W	well house	2	75.00	150.00
10/7/2020	Capital Project Capital Project	General Plant W General Plant W	Oversight and planning of capital projects CC WO 271006230 Installed fiberglass sheets and	2	75.00	150.00
10/23/2020	Capital Project	General Plant w	pipe insulation	0	75.00	450.00
10/23/2020	Capital Project	General Plant W	WO 271006230 Install pipe insulation and	9	75.00	675.00
10/23/2020	Capital Project	General Flaint w	fiberglass sheets in well house 4 building. TT	9	75.00	075.00
	Vehicle Use	General Plant W	Vehicle Use of \$35 per day	4	35.00	140.00
	*Reimb Group	General Flant W	veniere ose of \$55 per day	-	55.00	140.00
10/31/2020	riterine eroup	Transmission & Distri	Central Bank Credit Card Charges-Capital		575.72	575.72
			Improvements, Construction Materials			
10/31/2020		General Plant W	Central Bank Credit Card Charges-Capital		285.26	285.26
			Improvements, Construction Materials			
10/31/2020		Source of Supply W	Central Bank Credit Card Charges-Capital		174.49	174.49
			Improvements, Construction Materials			
			Total Reimbursable Expenses			1,035.47
			l			
			Total			\$3,312.97

SUPPLY COMPANY, INC.	206 E MA MURRAY, KY PHONE: (270) RETURNS MUST BE ACCO 2% ADDITIONAL CHARGE O	42071-2184 753-3361 MPANIED BY RECEIPT N PAST DUE ACCOUNT		
CUST NO:JOB NO:PURCHASE ORDER:10343000DIST. F4 CAPITO	REFERENCE: DL PO # DIST. F4 CAPITOL	TERMS: NET 10TH	CLERK: KAY	DATE / TIME 10/5/20 11 59
SOLD TO: MIDWEST WATER OPERATIONS LLC ***CASH ACCOUNT***	SHIP TO: FREDDIE OBRYAN /	DUE DATE: 11/10/20 SALESPERSON: KK KAY TAX: 001 KY	TIDWELL	

LINE	SHIPPED	ORDERED	UM	SKU	DESCRIPTION	SUGG	UNITS	PRICE/	PER	EXTENSION
1	1	1	EA	4560918	2" THRDD PVC BALL VALVE PBVT32		1	14.99	/EA	14.99

1 .			6.1	14000010	2 THRUUPVU BALL VALVE POVISZ		1	14.99	1cm	14.00
2	2	2	2 E/	41024	2" MA SCH80		2	14.49	/EA	28.98
3	2	2	2 E/	40754	1-1/2" 90 SCH80		2	4.49	/EA	8.98
4	2	2	2 E/	42186	2 X 4 SCH 80 NIPPLE 861-254		2	4.06	/EA	8.12
5	1	1	EA	40918	1/2 FA SCH80		1	2.59	/EA	2.59
6	1	1	EA	40923	3/4" FA SCH80		1	3.60	/EA	3.60
7	1	1	EA	4214656	112X4 SCH 80 PIPE NIP 861-216		1	2.69	/EA	2.69 *
8	1	1	EA	49881	11/2X6SCH 80 PIPE NIP 861-218		1	3.29	/EA	3.29
9	1	1	EA	41779	2" UNION SCH80		1	14.99	/EA	14.99
10	1	1	EA	40754	1-1/2" 90 SCH80		1	4.49	/EA	4.49
11	1	1	EA	40712	1-1/2" TEE SCH80		1	14.49	/EA	14.49 *
12	4	4	EA	41023	1-1/2" MA SCH80		4	7.50	/EA	30.00
13	3	3	EA	40923	3/4" FA SCH80		3		/EA	10.80
14	2	2	EA	4506747	3/4"X1/2" BR HEX BUSHING	7.49	2	7.22	/EA	14.44 *
15	1	1	EA	4506713	1/2"X3/8" BR HEX BUSHING	4.49	1	4.33	/EA	4.33 *
16	1	1	EA	41031	1-1/2 UNION SCH80		1		/EA	11.29
17	1	1	EA	4506739	3/4 X 3/8 BRASS BUSHING		1		/EA	7.59
18	1 1	1	EA	4338653	3/8"X1/4" BR HEX BUSHING	2.49	1		/EA	2.40 *
19	1	1	EA	4011995	PT RAIN/SHINE	9.99	1		/EA	8.99
20	1	1	EA	49082N057	3" FERNCO CAP 880-3	6.59	1		/EA	5.93
21	1	1	EA	42703N008	3" PVC TEST CAP TTPC3	.73	1	0.559		.56
22	1	1	EA	42703N007	2" PVC TEST CAP TTPC2	.55	1	0.424	Card all	.42
23	2	2	EA	44303	1X3/4 BT SCH40	1.09	2	0.981	J-Section 1	1.96
24	1	1	EA	43151	1X1/2 BT SCH40	1.29	1	1.161		
25	1	1	EA	42703N008	3" PVC TEST CAP TTPC3	.73	1	0.559	a march and	
26	2	2	EA	4103636	1-1/2 BR CHCK VL MD 6300 6316947		2	75.99	/EA	.56
27	1	1	EA	4509345	2" BRAS CHCK VL MD 6300 6316954		1	99.99	1000	151.98
28	1	1	EA	3407483	2" U/S STRAPS PS1300-2"	2.05	1	1.64	/EA	99.99
29	1	1	EA	30398N003	3/8" BEAM CLAMPS MAL 9361	2.53	1		/EA	1.64
30	3	3	EA	3407590	PS619 3/8" SQ U/S WASHER 17616	.99	2		/EA	2.02
31	12	12		0230095	HH LAG SCREWS 3/8X4 QB/50	.55	3	0.79	/EA	2.37
32	10	10		0270061	FLAT WASHER 3/8" ZINC QB/100		12	0.89	/EA	10.68
33	10	10		0270064	FLAT WASHER 7/16" ZINC QB/50		10		/EA	1.60
34	10	10		0150009	HF USS COARSE NUT 3/8 QB/100		10	0.23	/EA	2.30
		14		0.00000	111 000 COMINSE NOT 3/8 QB/100	1	10	0.14	/EA	1.40

Continued...



# IIRRA SUPPLY COMPANY, INC.

# MURRAY SUPPLY CO, WHOLESALE ELEC CO. MURRAY RENTAL AND SALES CENTER 206 E MAIN ST MURRAY, KY 42071-2184 PHONE: (270) 753-3361 RETURNS MUST BE ACCOMPANIED BY RECEIPT

2% ADDITIONAL CHARGE ON PAST DUE ACCOUNT

	And and a second s			and the second	and the second s			
UST NO: JOB N 10343 00		REFERENCE: DL PO # DIST. F4 CAPITOL	TERMS: NET 10TH	CLERK: KAY	DATE / TIME: 10/5/20	11:59		
	R OPERATIONS LLC	SHIP TO: FREDDIE OBRYAN /	DUE DATE: 11/10/20 TERMINAL: 556					
***CASH ACCC	UNI***		SALESPERSON: KK KAY TAX: 001 KY	TIDWELL				
			INV	OICE: X	(3988	5		

PAGE NO 2

LINE	SHIPPED	ORDERED	UM	SKU	DESCRIPTION	SUGG	UNITS	PRICE/	PER	EXTENSION
35	10	10		2	#2 USS HC SCREW 3/8X1 QB/100		10	0.33	/EA	
36	1	1	1	49082N046	2" BLOW UP TEST BALL 301074		1	34.99	/EA	
37	2	2		42184	2 X 3 SCHED 80 PIPE NIPP 861-253		2	2.91	/EA	and the second
38	10	10	FT	41871	112 SCH 80 PVC PIPE		10	1.74	/FT	17.40
										and the second second
										The second of the second
										A statistical statistics in the
							The Lat in the	1915 - All		
						and the second				
								EN CALLER		
						L Lage Lege				
						Late Yes Th				The second s
						A PARTIE		10 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
						the state pro-	A LOW A TO BE STORE	and the second		and the second s



	~		
	Lowe	S	
	LOVE'S HOME CENTERS, LLC		
	1400 LOWE'S DRIVE		
	MURRAY, KY 42071 (270) 753-	9099	1H
the second second			de.
	- SALE -		
	SALES#: S0722MP1 3156792 TRANS#: 3429	6377 10-21-20	
	12247 15/32 CAT CAT 4-PLY SHTG	98.76	
	3 0 32.92	30.70	
	495726 BLUE HAWK 8-PACK LATEX GL	11.98	18
	8566 FRP WH PEBBLED 0.090-INX4	99.88	
	4 @ 24.97		11
	23850 3/4-IN SCH40 COUPLING 429	1.56	11
an Anna antas	4 @ 0.39		N.
	23849 1/2-IN SCH40 COUPLING 429	1.10	
	2 @ 0.55		N
和推进的建立的复数	784860 3/4-IN SCH 40 PUSH COUPLI	1.75	
	23941 1/2-IN PVC REPAIR COUPLIN		
	23942 3/4-IN PUC REPAIR COUPLIN		R.
	225795 5L8 EXTERIOR SCRU PGP 2 I		R.
	205801 LOC 9-02 POWER GRAB HEAVY 3 0 4.98	14.94	
	3 0 4.98		
	SUBTOTAL:	269.11	5
	TAX:	16.15	
	INVOICE 06510 TOTAL:	285.26	
	H/C:	285.26	
14 J. J. 14 Ch	A DESCRIPTION OF THE OWNER OWNER OF THE OWNER OWNER OF THE OWNER OWNE		
	M/C: XXXXXXXXXXX4282 AMOUNT:285.25	AUTHCD: 098867	
WI HOLD D	CHIP REFID:072206424384 10/21/20		

1000

elist Ha 10343 Boca to MIDVa	Jos O		HASH R03 (	CAPITAL	MURRAY RENTAL AND S 206 E MAIN MURRAY, KY 420 PHONE: (270) 77 RETURNE MUST BE ACCOMPA 3% ACONTIONAL CHARGE ON PA BENERIC PO # CR03 CAPITAL BENE TO FREDORE OBRYAN	ST 771-2184 53-3361 NEED BY RECEIPT AST DUE ACCOUNTERNE. NET 107H DUE BARE: 12/10 DEL BARE: 10/20 BALESPERSON: KH TAK: 001	т сьяжя Ке хоо тех хоо тех хоо кетти ноц ку	17H 3	16/TAVE 10/26/20 10.10
INE 5040 12 3 4 5 6 7 8 9	PPED 6 2 5 5 5 2 1 1 4 4	DRDERED 2 5 3 2 1 1 1 4	EN EN EN EN EN EN	5KU 12375YEL 3407483 53068N024 5290730 52943 56205 20063 2403875	DESCRIPTION 12/3 X 75 CORD YEL 2 UIS BTRAPS PS1300-2" STIG'S SPRING NUT STRP355 CORNER BRACE 6X1-108 AD 38X4X5 SQUARE U BOLT BOLT U SQ 5760X284 75 12 UTRITY CHISEL 4 1/2 X 1/16 MA CUT OFF WHE	8000 60.99 2.05 1.59	UNITS 2 5 5 3 1 1 1 4	PRICE/ PER 47.90 EA 1.04 EA 1.27 EA 4.99 EA 0.90 EA 3.90 EA 2.19 EA 2.49 EA 2.40 EA	March March
T WT: 0.	10				** PAID IN FULL ** BANKCARD PAYMEN BKCRD# XXXX APP: 021732 XR: 04079	T XXXXXXXX4282	4.49 174.49 X £	TAXABLE NON-TAXAB SUBTOTAL TAX AMOUN TOTAL TOTAL Receive	164.61 NT 9.88 <b>174.49</b> Byn



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2020	01674

## DATE RCVD<sup>12/03/20</sup> GL CODE See Below PRCD BY Krista GL DATE 11/1/20

## **APPROVED** By JayFavor at 9:25 am, Dec 17, 2020

Project

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/5/2020 10/8/2020	Non-contract (Operat Non-contract (Operat	Transmission & Distri General Plant W	-WO 271104022 Leak detection. AG -WO 270968662 Electrical wires burnt on electrical pole at well. Electrical company fixed temporarily	72	636.6 70.00 70.00 105.001	490.00 140.00
7/7/2020		Water Treatment & Pu	-Pace Analytical Invoice 2013961-44		635.3 100.00	100.00
	1	1	Total	1	I	\$730.00



СС

INVOICE

Invoice To:						Page 1 of 2
Midwest Water Operations Ronald Burklow 1351 Jefferson St Suite 301 Washington, MO 63090				Invoice Number: Customer ID: Invoice Date: Invoice Due:	2013961-44 44-102326 07/07/2020 08/06/2020	
Sample ID: 0063826-01 Sample Date: Sample Desc: BACT Center Ridge #4	06/30/2020	09:40	Project:	ВАСТ		
<u>Analysis</u> Total Coliform STATE Pad						<u>Amount</u> \$19.40
			Tota	al for Sample 0063826-0	1	\$19.40
Sample ID:0063826-02Sample Date:Sample Desc:BACT Center Ridge #4	06/30/2020	10:00	Project:	BACT		
<u>Analysis</u> Total Coliform STATE Pad						<u>Amount</u> \$19.40
			Tota	al for Sample 0063826-0	2	\$19.40
Sample ID:0063826-03Sample Date:Sample Desc:BACT Center Ridge #4	06/30/2020	10:30	Project:	BACT		
<u>Analysis</u> Total Coliform STATE Pad						<u>Amount</u> \$19.40
			Tota	al for Sample 0063826-03	3	\$19.40
Sample ID: 0063826-04 Sample Date: Sample Desc: BACT Center Ridge #4	06/30/2020	09:20	Project:	ВАСТ		
<u>Analysis</u> Total Coliform STATE Pad						<u>Amount</u> \$19.40
			Tota	al for Sample 0063826-04	4	\$19.40
			Total	l for Work Order 006382	6	\$77.60



## INVOICE

Additional Items				
<u>Description</u> Minimum Invoice Charge (100)	<u>Quantity</u> 1	<u>Price</u> \$22.40		<u>Item Total</u> \$22.40
			Pay this amount	\$100.00

We appreciate your business and continued support. We remain committed to supplying you with the highest quality analytical results. If you have any questions concerning this invoice, please contact us at 270-821-7375.

Please submit this stub with payment

Questions or pay by phone call (270)-584-3030

Customer ID: 44-102326

Invoice: 2013961

Date: 07/07/2020

Invoice Amount:

\$100.00

**REMIT TO:** 

Pace Analytical Services, LLC P.O. Box 684056 Chicago, IL 60695-4056

Terms - Net 30 Days

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1232

Ref: 1005



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

## Invoice

Date	Invoice #		
11/30/2020	01675-A		



## **APPROVED** By JayFavor at 9:25 am, Dec 17, 2020

Project

KY-Fox Run Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/22/2020	Capital Project	General Plant WW	Unlocked gate and met with tree services. Reviewed what to cut around site and lift station. ZW	1.5	75.00	112.50
	Vehicle Use	General Plant WW	Vehicle Use of \$35 per day	1	35.00	35.00
			Total			\$147.50


1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/25/2020	01675-В



# 705= \$ 19.04 714- \$ 19.68

Project

KY-Fox Run Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
10/31/2020 10/31/2020	*Reimb Group	Treatment & Disposal General Plant WW	-Central Bank Credit Card Charge -Central Bank Credit Card Charges-Repairs/Maintenance Total Reimbursable Expenses	es-Supplies		705 19.04 19.68 714	19.04 19.68 38.72
	APPRO By JayFa	<b>/ED</b> vor at 9:26 am, l	Dec 17, 2020				
				Total			\$38.72



LOWE'S HOME CENTERS, LLC 350 Leonardwood RD. Frankfort, Ky 40601 (502) 223-7500

- SALE -SALES#: S0492KT1 2545042 TRANS#: 72687007 10-14-20

1944942 CLX PH UP (-649731) 17.96 2 @ 8.98

	SU	BTOTAL:	17.96
		TAX:	1.08
INVOICE	46017	TOTAL:	19.04
		M/C:	19.04

 N/C: XXXXXXXXX8357 AMOUNT:19.04 AUTHCD: 061715

 CHIP REFID:049246254977 10/14/20 10:50:03

 APL: Mastercard
 TVR: 0000008000

 AID: A000000041010
 TSI: E800

 STORE:
 492
 TERNINAL: 46
 10/14/20 10:50:07

 # OF
 ITEMS
 PURCHASED:
 2

 EXCLUDES
 FEES, SERVICES AND SPECIAL ORDER ITEMS



Split - \$19.68 - Fox Run, LH Treatment, Brocklyn, River Bluff, Lake Columbia, Kingswood, Persimmon Ridge. \$19.65 -Airview Wastewater

Order Number: 77787848 Placed: 10/26/2020 Payment: Complete Status: On Hold Estimated Delivery: 10/30/2020 (view shipping details below)

Billing Information		Shipping Information	Other Information	
Name: CHRIS CARROLL Address Line 1: 1351 JEFFERSON STREET Address Line 2: SUITE 301 City: WASHINGTON State/Prov/Reg: MO Zip: 63090 Country: United States		Name: CHRIS CARROLL Address Line 1: 398 E GAP HILL RD Address Line 2: City: CUB RUN State/Prov/Reg: KY Zip: 42729-8623 Country: United States	Email: <u>ccarroll@midwestwaterop.com</u> Telephone: 502-509-8583 Shipping Method: Ground	
Ordered I	tems:	Qty.	Price	Item Total
Warming Wa	Customized Sign Custom Sign ID: 876800088 12" x 9"; Aluminum (.040) Single-Sided Full Color View Proof	24	\$8.25	\$198.00

Payment Information		Subtotal: Promo:	\$198.00 (\$49.50)
Card Type: MasterCard Card Number: XXXXXXXXXXX1804	Payment Status: Complete	Shipping: Tax:	\$0.00 \$8.91
Expiration: 8 / 2023		Total:	\$157.41



1351 Jefferson Street, Suite 301 Washington, MO 63090

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

# Invoice

Date	Invoice #
11/25/2020	01676

DATE RCVD<sup>12/03/20</sup> GL CODE 107.001 PRCD BY Krista GL DATE 11/1/20

# APPROVED

By Jake Freeman at 7:57 am, Dec 18, 2020

KY-Golden Acres Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/7/2020	Capital Project Vehicle Use *Reimb Group	General Plant WW General Plant WW	Oversight and planning of capital projects CO Vehicle Use of \$35 per day	1.5	75.00 35.00	112.50 35.00
10/31/2020	Kenno Group	Collection & Pumping	Central Bank Credit Card Charges-Capital Improvements, Travel Expenses Total Reimbursable Expenses		443.96	443.96 443.96
			Markup		5.00%	22.20
			Total Reimbursable Expenses		5.0070	466.16
			Tota	I		\$613.66



#### DREW GRIFFIN 11744 HWY DB Hannibal MO 63401 United States

#### **INFORMATION INVOICE**

Membership No.	:		
A/R Number	:		
Group Code	:		
Company Name	:	CIS	

Room No.	:	322
Arrival	:	10-19-20
Departure	:	10-22-20
Page No.	:	1 of 1
Folio No.	:	41335
Conf. No.	:	56195298
Cashier No.	:	3936

11-06-20 09:34:04 AM EST

Date	Text	Charges	Credits
10-19-20	Room	89.00	
10-19-20	State Tax 6.66%	5.93	
10-19-20	Tourism Tax 1%	0.89	
10-19-20	Local Tax 10%	8.90	
10-20-20	Room	89.00	
10-20-20	State Tax 6.66%	5.93	
10-20-20	Tourism Tax 1%	0.89	
10-20-20	Local Tax 10%	8.90	
10-21-20	Room	89.00	
10-21-20	State Tax 6.66%	5.93	
10-21-20	Tourism Tax 1%	0.89	
10-21-20	Local Tax 10%	8.90	
10-22-20	Mastercard		314.16
	XXXXXXXXXXX6084 XX/XX		

Total	314.16	314.16
Balance		0.00

Club Carlson: A faster way to a free night stay at over 1000 Carlson hotels worldwide. Enroll and learn more at the front desk or at clubcarlson.com

#### Thank You For Staying With Us

I agree that my liability for this bill is not waived and agree to be held personally responsible in the event that the indicated person, company or association fails to pay for any portion or the full amount of these charges.

Guest Signature\_\_\_\_\_

Country Inn and Suites Paducah 145 McBride Lane. Paducah, Kentucky 42001 Telephone: 270-442-2201 Fax: 270-442-7470 Email: cx\_padu@countryinn.com

1744 HWY DD		name address	room number: arrival date: departure date: adultychild room rate: Rete Plon:	307/KXTD 10/6/2020 5:34:00 PA 10/7/2020 7:08:00 AM 1/0 116:62	If the initialization of you are using for the kin is initialized to a low or checking extends a head with a planet on the account for the full initialization defau encount of the series (in the head initialization defau encount of the series (in the head in the head encount of the series (in the head in the head match) and initialized and the series of the head heads from the date of encount or longer at the distribution of the formula initialized.
Confirmation N	lumber: 80663(	048	Hate Plan HH & AL Car Rates subject to applicable as unatiended in your room. As not willed and agree to be he to pay for any part or the sub non-smoking room. Hease as th	1275484630 SILVER Her, eccupancy, or other taxes, Please fery deposit hor is exclude to any or for personary facts in the event that the amount of these charges. A fee of up a front Deas for locations of designated of	do not keev any interny of state of value to looky, i agree that my labelity for the lot is indicated period, company or association for to 250 USD will be assessed for smaking in e- ultition smoking areas
date	reference	descript	lion	amount	0
10/6/2020 10/6/2020 10/6/2020 10/6/2020 10/7/2020	635831 635831 635831 635831 635867	GUEST ROOM RM - KENTUCKY SALES TAX RM - MURRAY OCCUPANCY TAX RM - KENTUCKY TRANSIENT TA MC '5084 **BALANCE**		\$116.62 \$7.35 \$4.66 \$1.17 (\$129.80) \$0.00	
	·*;		- [Hillion]		de Alexandre
			- [Hillion]		
	ations call <b>1.8</b>		- Hillog	STR HOMEQ com	No. Maria bost
account no	vations call <b>1.8</b>		Inptor.com	AND HOME () (1000)	thanks.
MC *6084	rations call <b>1.8</b> 2. ber name	00.hampton or visit us online at ha	Imptor.com date of cf 10/7/200 093321	NATE HOME III IIII	thanks.
MC *6084 card memi	rations call <b>1.8</b> 3. ber name ANDREW.	00.hampton or visit us online at ha	Impton.com date of to 10/7/2020 authoriza 093321 mains to regenerat	AND HOME () (1000)	thanks.
Account no MC *6084 card memi GRIFFIN.	rations call <b>1.8</b> 2. ber name	00.hampton or visit us online at ha	Imptor.com date of cf 10/7/200 093321	AND HOMES IN AND AND AND AND AND AND AND AND AND AN	thanks.
account no MC *6084 card memi GRIFFIN, establishm	ations call <b>1.8</b> 2. Der name ANDREW ent no. and loc	00.hampton or visit us online at ha ation estationment agrees to transmit to card	Ampton.com date of to 10/7/2020 authoriza 093321 hades to regent toxes tips & min	ADMER III III IIII harge folio/check no. 200937 A tion initia s & services sc	thanks.
Account no MC *6084 card memi GRIFFIN, establishm	rations call <b>1.8</b> 3. ber name ANDREW.	00.hampton or visit us online at ha ation estationment agrees to transmit to card	Impton.com date of d 10/7/2020 authoriza 093321 hades to revenue taxes	ADMER III III IIII harge folio/check no. 200937 A tion initia s & services sc	thanks.

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1239



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice
7/1/2020	1676

Invoice

DATE RCVD<sup>07/08/20</sup> GL CODE<sup>107.001</sup> PRCD BY Krista GL DATE<sup>6/30/20</sup>

		<b>APPR</b> By Jake	<b>OVED</b> Freeman at 12:07 am, Jul 22, 2020	KY-Airu	Project view Utilities Wa	stewater
Serviced	Otu	Item Code	Description		Price Each	Amount
6/30/2020	Qty.	Reimb Group	Sunbelt Rentals, IncInvoice 100896989-0004, 06/12/2 Total Reimbursable Expenses Markup Total Reimbursable Expenses	2020	Price Each 1,304.02 5.00%	Amount 1,304.02 1,304.02 65.20 1,369.22
				Tota	l	\$1,369.22

		VOICE			
		PAYMENTS TO: RENTALS, INC. 0X 409211 GA 30384-9211	INVOICE N	0. 100896	989-0004
SUNBELT	ATLANTA,	GA 30384-9211	Account	792594	
RENTALS			WAVARE D	41 441	20
					1 of 1
INVOICE TO		RECEIVED BY		CONTRACT N	
MIDWEST WATER 1351 JEFFERSON WASHINGTON MO	ST STE 301	PURCHASE OF	5, 30HN IDER NO		00896989
հիվթիկերիներին		JOB NO	a war	TE WATER TH	DEA.
JOB ADDRESS WASTE WATER TREATME 182 E AIRVIEW DR ELIZABETHTOWN, KY		BRANCH SHEPHER 5508 SP	DSVILLE PC		
636-432-6154		502-921	-0025	1 40103 3	47.5
. QTY EQUIPMENT #		Min Day	week	4 week	Amount
721103 Make: MI HR OUT: 1418.300 6 WELDING LEAD 50' 1 WELDING ELECTRODE ( SALES ITEMS: QTY Item number 1 ENVIRONMENTAL ENVIRONMENTAL CHARG 1 RENTAL PROTECTION 6 BILLED FOR FOUR WEI	4P Unit P EA 11 5E 2133 *LAN EA	400PRO Ser #: TAL: 141300 5.00 \$.00 5.00 \$.00 Rental Sub- rice 2200	15.00 15.00 15.00	45.00 45.00 45.00	270.00 45.00 45.00 1060.00 11.20 159.00
	aranteed.		SUBTOTAL SALES 160		100000
Equipment, Service, Gu IEMIT TO: UMBELT RENTALS, INC, 0 BOX 609211	aranteed.	NRECEIPT			1,230.20 73,82 1,304.02

4 WEEK BILL Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1241



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

ľ	nv	<b>'01</b>	ce

Date	Invoice #
11/30/2020	01677

DATE RCVD<sup>12/03/20</sup> GL CODE<sup>See Below</sup> PRCD BY Krista GL DATE<sup>11/1/20</sup>

107.001= \$5810 704= \$105.95 712=\$ 140 714=\$ 6.97

Project

KY-Golden Acres Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/6/2020	Non-contract (Operat	Collection & Pumping	-WO 270960964 Sewer camera operation AG	6	107.00170.00	420.00
10/7/2020	Non-contract (Operat	Collection & Pumping	-WO 270960964 Sewer camera operation AG	12	70.00	840.00
10/19/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 I and I inspection and	12	70.00	840.00
			tracking. AG			
10/20/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera inspection collection system. AG	12	70.00	840.00
10/20/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera collection system. TT	5	70.00	350.00
10/21/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera inspection of collection system. AG	12	70.00	840.00
	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera collection system. TT	5	70.00	350.00
10/22/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera inspection of collection system.AG	12	70.00	840.00
10/22/2020	Non-contract (Operat	Collection & Pumping	-WO 271003165 Camera collection system and lift station. TT	7	70.00	490.00
10/28/2020	Non-contract (Operat	Collection & Pumping	-WO 2701023140 Add copper sulfite to	2	712 70.00	140.00
			collection system for root control. TT			
	*Reimb Group				704	
10/31/2020		Collection & Pumping	-Central Bank Credit Card Charges-Supplies		704 105.95 714 6.97	105.95
10/31/2020		Treatment & Disposal	-Central Bank Credit Card		<sup>714</sup> 6.97	6.97
			Charges-Repairs/Maintenance			
			Total Reimbursable Expenses			112.92
		PROVED				
	Ву	JayFavor at 9:2	6 am, Dec 17, 2020			
			Total			\$6,062.92

# Bluegross Golden neres

THANK YOU FOR SHOPPING AT HANK BROS. True Value HARDMARE (270) 554-4001

TO BETTER SERVE YOU THIS RECEIPT WILL BE NEEDED FOR REFUNDS OR EXCHANGES. SALE 10/20/20 12:56PH MASON 551 \$3.29 EA EA 105619 \$6.58 2" 90 DEG E11 SXS .39 TAX: \$ 6.58 SUB-TOTAL:\$ 6.97 TOTAL: \$ 6.97 BC AMT:



# AUTH: 058955 AMT: \$ 6.97 Host reférence #:871999 Bat#

Authorizing Network: MASTERCARD

Chip Read CARD TYPE:MASTERCARD EXPR: XXXX AID : A0000000041010 TVR : 0000008000 IAD : 101060700122000077E300000000000000



TSI : E800 ARC : 00 MODE : Issuer CVM : No CVM Name : Mastercard ATC :0016 AC : 24FB9026F0603484



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 1244



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

#### Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

# Invoice

Date	Invoice
6/30/2020	1677

DATE RCVD<sup>07/08/20</sup> GL CODE 107.001

PRCD BY Krista GL DATE 6/30/20

## **APPROVED**

By Jake Freeman at 12:07 am, Jul 22, 2020

Project

KY-Center Ridge-River Bluffs Wastewater

Serviced	Qty.	Item Code	Description		Price Each	Amount
6/21/2020		Reimb Group	Louisville Water Company-Temporary Service Meter Deposit, 06/21/2020, Ck 1237 Straeffer Pump & Supply, IncInvoice 30175, 06/10/2020 Total Reimbursable Expenses Markup Total Reimbursable Expenses		1,000.00 5,895.00 5.00%	1,000.00 \$100 5,895.00 6,895.00 344.75 7,239.75
			۲   ۲	Гota		<del>\$7,239.75</del>

\$900 Credit memo entered

\$6,339.75

#### Louisville Water Company Temporary Service Application

In consideration for a license to use a temporary meter and to obtain water service, Applicant/Licensee agrees to the following:

- 1. A \$100 initial, non-refundable service fee;
- A \$2 non-refundable daily service fee;
- 3. To pay a refundable security deposit from which LWC will deduct the following amounts prior to refunding any remaining balance within 60 days after returning the temporary meter to LWC, and to the extent that the following charges exceed the security deposit stated above, Applicant/Licensee hereby agrees to be responsible for payment of all such charges:
  - The full cost of temporary meter if it is not returned for any reason whatsoever;
  - b. The cost of any missing or damaged parts to the temporary meter and/or the fire hydrant to which it is attached; and
  - c. Any unpaid water usage bill;
  - 4. To fully comply with all rules and regulations;
  - 5. To use reasonable car in handling and using the temporary meter, which at all times remains the property of LWC;
  - 6. To use the temporary meter for Applicant's/Licensee's use only and no other person or entity;
  - 7. To pay for water usage at rates that are current at the time of usage;
  - 8. To have the temporary service meter available to Louisville Water Company's meter reader for a meter reading at a minimum the first two weeks of the even months of the year (February, April, June, August, October, and December);
  - 9. To return the temporary meter once a year starting one year from the date of this License or earlier if demanded by LWC or no longer needed by Applicant/Licensee;
  - 10. To pay any and all charges, fees and account balances when due, including costs exceeding the security deposit for charges explained above in subsection (1), and attorney's fees and costs in the event LWC pursues legal action against Applicant/Licensee for damages relating to this License; and
  - 11. To Indemnify and hold LWC harmless for any claims, damages, actions or liability assessed against or incurred by LWC as a result of Applicant's/Licensee's negligence or willful misconduct in the use of the temporary water meter.

Applicant/Licensee Signature Date:230

and allow	5036366	ice Use Only	
Meter #: 003	14211	Start Read:	230
Return By Date:	6.23-2021		

	Ch:	Box 99 andler, IN				<ul> <li>Company</li> </ul>		INVOICI
			3075 FX: 812.47 raefferpump.cor				Date	Invoice #
	ww	w.straeffe	rpump.com				6/10/2020	30175
Bill T	A DOCTOR SCHOOL SCHOOL ST	operations				Ship To (Sar	me As Bill To unless no	oted)
51 Je ashin IAIL	efferson S gton, MO	treet, Suite				Prospect, KY		
ump			ew Constr	urtion	Terms Net	30 TAG:		. 1
	Job #	Custo	mer P.O. No.	Buyer	Job No	Main Job #	Job Name	
			Jon	Stewart May	FR20H-3305		Prospect, KY	ť
ty	Item	Code			Description		Price Each	Amount
1	HY HPG	F500M3-4	Hydromatic Gri	nder Pump, 5hp, 2	230 volt, 3 phase,	with 35' of cord. (Vert	ical 4,375.00	4,375.
	Field Lab	JOF					1,520.00	1,520.
		oor					1,320.00	1,520.

Account #



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

### 712=\$332.50 713.001= \$1091.14 714=\$350

Invoice

Date	Invoice #	
11/25/2020	01678	



Project

KY-Great Oaks Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
10/23/2020	Non-contract (Operat	Treatment & Disposal	-WO 270421916 Annual blower serviceSZR	3.5	714 70.00	245.00
10/24/2020	Non-contract (Operat	Collection & Pumping	-WO 271007772 Call out on stop up at 5811 Oakwood	1.5	105.00 712	157.50
10/24/2020	Non-contract (Operat	Collection & Pumping	-WO 271007772 Service call at 5811 Oakwood -SZR	1	105.00 712	105.00
10/26/2020	Non-contract (Operat	Treatment & Disposal	-WO 271014857 Effluent pipe clogged with leaves, rod and clearSZR	1.5	70.00 714	105.00
10/27/2020	Non-contract (Operat	Collection & Pumping	-WO 271018626 Service call at 5930 Oakwood -SZR	1	70.00 712	70.00
	*Reimb Group					
10/22/2020		Treatment & Disposal	-Mike Petter Septic and Sewer Service Invoice 10426		1,000.00 713.001	1,000.00
10/31/2020		Treatment & Disposal	-Central Bank Credit Card Charges-Repairs/Maintenance		91.14 713.001	91.14
		<b>PROVED</b> ayFavor at 9:26	am, Dec 17, 2020			
			Total			\$1,773.64

MIKE PETTE No. 10426 **Septic Tank and Sewer Service** P.O. Box 2223 Paducah, KY 42002-2223 Ph. (270) 442-0636 TION Inspection ... loaps of sludge out of L ant Septic Tank Pumped ... V Sink Lines Unstopped Unstop Inlet Line Clean Field Line ..... Grease Trap Pumped ..... Cut Roots from Line ..... Unstop Commode ..... Washer Drain ..... Floor Drain ..... V Dumping Fee ..... Replace Line ..... Other ..... ..... Total ..... Payment due upon completion of job. A late penalty will be added to all unpaid invoices after 30 days from date listed above.

Sewer lines unstopped, grease traps, septic tanks & cesspools pumped. Licensed, Bonded and Insured in Kentucky & Illinois

